UGC NET 2021 Politics

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only
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(A)  THET

(B) SEwA{A -3

(C) =AMR-waHA

(D) =t T

Hrt f2u u foepeai § @ wE 3w R =Ee i

(1) = (A) 317 (D)
(2) == (A), (C) 31 (D)
(3) ¥ (B), (C) 377 (D)

(4) == (B) #ik (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
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people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :



(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only

TFT U9 FEM-TH - F W g A 7

(A) stgma
(B) =i
(C) foehe
(D)  IHET
(E) #=&Fd

Hi fou T fomel 9 @ wE I W1 9 il

(1) == (A) (2) a4 (A). (B). (C) =1 (D)
(3)  #ae (A) = (D) (4) =ad (A), (B) 31 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]

AW N -

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?

(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various

layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights



(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e
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DELL =i
TS 17% 8:7
T 22% 4:5
Taae 25% 3:2
HFE 2% 7:5
EE=T 12% 7:8
famea 16% 7:9




What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL =m0t = g 5eis 331 famean 9 s 72 fafs woorst i g = sgard o= 27

(1) 119:145 (2) 116:135
(3) 119:135 (4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) (Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &4
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% Y

freAifRa @ifer 1 =99 © 2 fags vk faghan & g 978 2019 § faEest 2019 9% 59 U S o
% faao it wlaemar 9 HP =R DELL #0241 =+ @9F 1=t 1 g Fef @t & #m= % omqema
FIET T 7| T st ° e adt sl gt i g wen 45,000 (darfem www) 21 Ao | fag o
TS F HUR T 977 FH I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
T 25% 3:2
AT 8% 7:5
T 12% 7:8
Temw 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST Faren § HP #0091 % 356% el wors gz un s o o1 w6 ade § HP we & e s s




Lisa B3 B o S it e N S

(1) 882 (2) 1635
(3) 1638 (4) 835

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% Y

feAifeRa Aifer 1 w9 ° 2d fams vk faghan & g7 9o 2019 ° faEmst 2019 9% 5= 70 FSf T
% faawo 1 ufaemar a1 HP @in DELL w21 % @9 siata 5 fafia Fef ot & = #1 smoa
FaItEr T 7| g st | e adt fsf gt i s we 45,000 (darfem wew) 21 e | fag e
STHS *F HUR T T77 H I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
e 25% 3:2
AFZAT 8% 7:5
T 12% 7:8
Temr 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

3R 3Tgst % oo™ DELL S0 & fashar o wedsh [ @k o5 %, 433 0 @ Wi fRa 9 29 e

3§ et 1 v e firem ?

(1) £ 6.49.900 (2) ¥6.45.900
(3) 16.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]



1 [Option ID = 13719]
2 [Option ID = 13720]
3 [Option ID = 13721]
4 [Option ID = 13722]

N wnN -

4)  Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% e
October 8% ih
November 12% il
December 16% e

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
Zon T 2| g st | T adft S @ i 5w @e 45,000 (Fartom wAR) 20 e § f2o o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
AT 12% 1:8
famr 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

A % BAH § HP 001 % g o9 70 1 S 61 5 [5Esn % 5eH § HP #eE] % grl e T

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentaze (%) distribution of the number of



Fersonal Lomputers (Fws) solda by a dealer Irom «July 1o December-<U1Y and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% i)

AT aifern 1 w9 © 2 fogd ek faghar & gy 9ems 2019 © faaest 2019 9% 5= 7o FHsft Fmoe
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
ZIET T B | T At g e et fef g & 3w 45,000 (dETiem wEw) 2| Ao § i o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
EE=T 12% 7:8
famr 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3T wE T g 98l § DELL #00 * gr & T et 5 Sorni i g e 27

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]



Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

forer = 3w war T eTTeTEATeR S 9= % 399 1 GEAY HEE A 27

(1) fdw®m (2) AT T
(3) famefi-fa=7 = (4) w=ET = T

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

frfafias fafmea 3 & %9 = =Een w9 e o T 2
(A) ==

(B) forerm—Fr-qaifaee

(C)  =ew Tafasman

(D) TB-TqEa

(E) Yazas

F= f2u v fawe B | wE 39w 99 A

(1) = (A). (B) 37 (C)
(2) A (A). (C) 31 (D)
(3)  =Ad (B). (C) 3 (D)
(4) = (C). (D) #W (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(1), (C)-(1), (D)-(I) ~ (2) (A)-(lin), (B)-(IV), (C)-(IN), (D)-(D)



(3) (A)-(I), (B)-(D), (C)-(1), (D)-(IV)  (4) (A)-(), (B)-(I), (C)-(IV), (D)-(Il)

TH1-1 % |1y geAi-11 =7 e Fifsm) 9o =t goar i fatie aglaat 1 2, 938 5 o 55 =it
e i 2| g1 v gL e

-1 711
TeTFA-Tgh e
(A)  Tmiome e (D) v feemeft 1 g famnefi & gemn Fa 2
(B) HHEHTHF Hoaia (1D v% faemsff i oo @ foifm == @
Al 2|
(C) Fr=w i gearsa (ITT) wome: wfem 6 afamon w3 @9zE %
ECtRE
(D) wEF T goar (IV) wymg: Fuus wifg & g 29 096
& 21

A fou v famegt @ ® @ 3T W =8 i

(1) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(2) (A)-(TID), (B)-IV). (C)-(II), (D)-(I)
(3) (A)-II), (B)-(D). (C)-(III). (D)-(IV)
(4) (A)-(D), (B)-(ID). (C)-(IV), (D)-(IIT)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 21 Fya faw o B

F94 (D) : e = st (wifaefiar) 2o =1 o geya fogea & & e 9= asfifa f
AT T wAg 7w 99 W E o SfE wET =

F (1) v < yEEOEE] e g % smER = gt see My w9 8 gErieen
_F:ﬁ"l El Eo':"\

I HE * ATAF °, = 5w e 9 9 e 3w = il

(1) = () =18 (1) 341 72 &

(2)  FE (1) R (1) 3 3793 7

(3) e (I) &eF 3, wtF = (1) /e 2
(4) e (I) 3@ 2, AfF= Fom (1) ¥ 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.



Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hi= 3 wuA 5 T F ;. uw AfYwYT (Assertion A) % ®9 # feffiga & af ?HEHEEWW (Reason R) &
w0 H :

AR (A) foem, feE vd wIfaTEEAl % ASY AHIATHS UH AR fAEr R HHEE
FIAT B, ¥ T2 AT v uiEr g fium )
A (R) R o1 o s b Mt A B o | A B et e R e e ) e ]

IR A AT °, = fon T et § 9 e ST 3 S =E i

(1) (A it (R) ZHT =2 & 3fi (R). (A) = @@l = 2

(2)  (A) R (R)FA FE E, T (R), (A) F w6 = 1w e
(3) (A &, @A (R) 781 79 =

@) (A= FE R, T (R) T ®

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freferfas omal 8 @ Frag Ay A i T & T R S 20

(1)  =eT-gva-gard (2) i g
(3)  UARERE ArAAEE (4)  TETIEEE HETE

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

= & ot femreaTett | ©@ Tomen sy i gEe =

(A) =g glawrl = giss o "o % SEEy ° gesiad gl
(B)  3HE 7% AT W1 2 HETE A27 Faw OF e e ¥ 5 B
(C)  ivamefl adm T e feafEn § fe A A 2

(D)  =eneff gewE o = % AU o9 ST W AemEE I g A o Al

(E)  3o# wome wd sE-gERaT 291 °§ ST 5 2

Hi fau v famewi @ ® @ 3T w1 =84 it

(1) =& (A). (C) 7R (E)



(2)  =&aE (A). (B) 7R (C)
(3) = (B). (C) 3 (D)

(4)  F&E (C). (D) 317 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List I List Il

Methods of research Features emphasized

(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(h, (B)-(11), (C)-(lin), (D)-(1V)  (2) (A)-(11), (B)-(1), (C)-(IV), (D)-(ll1)

(3) (A)-(1n), (B)-(IV), (C)-(ID), (D)-(1)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)

=11 F = g=-11 1 Toem Fifsm
-1 T=i-1T
71 TgieE s T
(A) wEFTEEH () AT HEE=AT W 9 od 50 TMAEE
i @i 1 e w A
(B) MM (I) ufifeafaal va awai #1 feafa gHtr=aa i
R 2
(C) =vHHS (ITI) ZH =% 92 U9E @A F o o =90 H 2
T S R
(D) UiTETE (IV) fawe +1 @9 &9 7U Amfs s 9=

= f5u e e B H HE 3 R A i

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) (A)-(ID). (B)-(D). (Cy-(IV). (D)-(III)
(3) (A)-(IID), (B)-(IV). (C)-(II). (D)-(I)
4) (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w foaw T E

F97 (D) FIEYE H A -TavelNe Uh g HE B % S EE - A S
FT (1) : FEEF % STH Ui = § e diL A, gEe wan B

IYUTF FYF F AEE 0, T B v e # ¥ o 39 %1 == Fifaw




(1) = () =i ID 34 709 &

(2) = (I) 3 (1) 3T 378 2

(3) w9 (1) 73 2, @ =9 (I11) 3190 2

(4) = (1) A5 2, @i w9 (1) #eg 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

I 3 F9F fRu U ;o wfiweE (Ascertion A) % 9 § foifigd & @ EL =I5 FA0 (Reason R) &

EqH :

R (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(w=r:) == = e R

F (R) : i afeer (vm0) vF mEiTE ufiweT T B AR vE (UE:) '@ ' OF FhEm

TR { #7 qieT Eﬁ?&fh £ affa § o 5 2
ST YA % A o, = fou e fokedt 8§ | awE 9w I o 99 i

(1) (A) =R (R) 3 WA & &7 (R). (A) 7 787 = 2

(2) (&) ¥ (R) 3 HE 2, = R). (A) F H8 = 96 8
(3) (AT E, @ (R) 78 76 =

4) (A TE FE 2, @i (R) wE R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

fr=fafms 4 & Fi9 wmeE @6a F1 A5 33w 7 e smr-wme (fm), = (=), 7 (399)
S fermy (9is) =1 ST e &7

(1) @@= i gisa (2) waEE Tgha
(3)  3THYHIT Tehd (4) U am

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]



12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Fr 21 o fow T 2 oF AfMFEH (Assertion A) F ¥4 H fafEq ® 1 550 30 FEW (Reason R) F
A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(FS-=m) Fed B

F (R): I M FEadTE Sl % A0 991 % || mieem - A A

IO FYA F A 1, A 5w e Tt 3 @ we 9 I # 96d Hie

(1) (A) ¥R (R)7H =4 £ @R (R). (A) F1 =78 =wen 7

(2) () ¥R R) T T4 2, A (R). (A) F1 97 =wen 774 2

(3) (A R, T (R) T 2

(4) (A =E TF 7, witE (R) @R 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w faw o 2

9 (D) : THTE TTEF T B FEF TES] T AETIE A
Fo (10) : Hifgs 99 w3 G grE-amEn % e 2

I HU F w6, S 2w el 9 8 w39 o= i

(1) = (1) 39 (ID) 21 a9 2
(2 = (D) ok 1) 3 s #
(3) = (1) a2, = = (1) 5190 2

(4) = (1) 76 2, wih e (1) 909 &



[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

srifefad gt & ® Joge F sranet # 1w -
&) T

(B)  =ufta sgw

(C) == wd foram =i Fzag =

(D) == v R = e ag

(E) T %9

A= f2u v el § | HE 390 w1 =59 S

(1) == (A) 31 (B)
(2) = (B) 37 (O)
(3) & (C) @i (D)
(4) == (D) #R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(1V)

(3) (A)-(I, (B)-(IV), (C)-(), (D)-(I1)  (4) (A)-(IV), (B)-(llI), (C)-(I), (D)-(1)
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(1) (A)-(Dy. (B)-(II). (C)-(IV), (D)-(I1T)
@) (A)-D. (B)-(D). (C)-(IID). (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
@  (A)-AQV). (B)-IID). (C)-AD). (D)-@)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

7fg Famea, fawarea =1 25% 2 o oy it i Fm 2 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

s fagar 26 et 9== 5. 20/FFa1 & 27 W wiiz w1 o0 g wEE w30 e == e g e e
354 %, 36/ % 7 W wlEr o1 ok 5w wen fafim gu wmEe w30/ F 3w s 2 I A
=1 faeraan a3 7r 7

(1) 5% (2y  10%

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

w Fg-Toha 5. X/ = @ W 39 wig 5. 20X/ F @ W Al 2| 99Eg 36 98 2 e o
T 6 e WG g9 § fien Zar 21 36 @ it uiewmken 4 2 7

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]



4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitea @i A= 5050 94 &, Q ¥ R =i sit@a @ifesw s 6250 w94 @91 P o R i

ST TE A 5200 ¥ 2| P A oifi ar e g e

(1) 3.000/- =74 (2) 3,500/- =91

(3) 4,000/ %7 (4) 4,500/ 572

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3)25 (4) 30

4 GEATAT T FET 20 B 9T TESA WA W 3 GEAST o A7 F 1/ 3 F| TueAl G H AW AR ?

(1) 156 (2) 20
(3) 25 (4) 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21 ; s : : ; ;
) According to Naiwvayikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
identity between x and y

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x iz not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (D) and (C) only
(3) (B) and (D) only
(4) (A). (B) and (C) only

FeAaFl % AR =9 x A0 y # AR G w Fee gty #d 2
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=H HE-d =Rl 41 HIHIREA = O9d & 99 75 x AN ¥ =6 |9 FwEH—HE0 HEEET HIFE=ED B o

(D)  x Fi sufeafa & wa y Fi sEaetE @y £ sofcafa F @y « Foagefata = 6 f e =

A9 T HH|
4 15U TTu faedl B W HE I 55 Hie

(1) ae (A) 30 (O)

(2)  a= (D) 3R (C)

(3) === (B) 51 (D)

(4) == (A). (B) #AT (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]

3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

List I List IT
(A)  Vyapti (I)'  The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhva (IIT) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(III). (C)-(IT). (D)-(IV)
2 (A)-aD, (B)-AID. (C)-(I). (D)-IV)
(3)  (A)-AV). (B)-(ID). (C)-(T), (D)-I)
@  (A)-AID. (B)-1). (C)-AV). (D)-I)

FHt-1 & =19 gH-11 =1 faam i
el Exig!
(A) =t D TTEE F AT
(B) e (I) 29 =1 =0 1 T4
(C) =1 (III) Hehe HA9=1 FE0]
(D} w& (IV) =rEdtias emiea

=t fou 7o fomeai § @ W 3= w1 == i

(1) (A)-(T). (B)-(III). (C)-(II). (D)-(IV)
{(2) (A)-(ID), (B)-(IIT), (C)-(T). (D)-(IV)
(3) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(4) (A)-(TIT). (B)-(I). (C)-(IV), (D)-(IT)
[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]



3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) (Given below are two statements -
Statement I : According to Claszsical Indian Logic the fallacies (hetvabhaza) are not
errors of inference, but rather hindrances to inference.
Statement 1T : A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arizsing.

In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are falzse.
(3) Statement I 1s true but Statement IT 1= false.

(4) Statement I 1s false but Statement II is true.

i 31 = fau w2

F9 (I) : YA g7 TS F STER oA A w1 A Al S0 SEde 2
o (ID) : ECITHTE TG STEE WA S9GT Hhd £ A W SAMESE 7 OA 9 S w5

= U F HEET =

IEIF FUF F AT H, A @00 FEmed § ¥ HE 39 @ 99 i

(1) =¥ (1) 31 (II) 31 &ea 7

(2) = (1) 30 (D) 21 e 7

(3) = () 5e7 2, wifwa % (1) 793 2
(4) A (1) s/me 2, Sifa F9E (1) 97 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

AN wnN -

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““‘No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ““Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.
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[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21wl = 2 ot

(1) U, 38 1 fog wr & 91 T " 2

(2) ST, 2F Oed B BFA] £ S 2 FEeE TR 8 "

(3) oW IS w2y AR f9dg ug fim ¥, va o el ann o we 2

(4) 9P I 3239 SR fUm auH # 9 3 et 9T | 9 T 2wy o 9 et 2

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

ZUHEE WEAT 67.625 T TGAant THged 74 B 1

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011.101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFEY 2IEY 1 SIH § TEd 5T Gl o9 § HeH diY, W0 o 30 % 50 1w e 4 ¥ w@d wmy i eeE
Ead
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(1) (B). (D). (A), (C)
(2)  (C). (D). (A). (B)
(3) (A). (B). (©). (D)
(4) (C). (A), (D), (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

7 (D) : .1, 5, w1 adem & - 86 A e wEE
Fo (1D : TH TS U AR U, W HAelW B - TS| 958 AT UiEIE-ofia B 9 UHSE
AREH

IUEE FUF F F |, 9 2 T T § 9 mE I @ 99 i

(1) = (1) 3% (D) 3 53 3
(2) = (D) 31 (1) 31 389 2

(3) = (I) §ea 2, =it = (1) s8en 2

(4) = (1) s@e 2, | w5 (1) we 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

FfatEs 8 ® FH-FF 5 FUF T 91 H o =2, 9w gt w7
(A) TP FES 7% T5d
(B) #HA-w12 WIaH

(C) Topt 29 1 e fafwerda e



Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(1) (A, (B) 3l (C)
(2)  =FEA (A) 37 (C)
(3)  =FAd (B) 3 (C)

(4)  FAE (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(I, (B)-(1V), (C)-(1), (D)-(I1)  (2) (A)-(lI), (B)-(1), (C)-(IV), (D)-(II)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1) ~ (4) (A)-(IV), (B)-(IN), (C)-(1), (D)-(11)

Ft-1 % =y g1 =1 faes Hit

1 FHII

T TE T
(A) TEd . () wifes as
(B) 2.0 (I) &R Fed 7 5 foTu $9a01e F1 3
(C) =93.0 (1) 3% 95 1 599 % forw e 6i 78 s
(D) =ff.=m s (IV) st a9

Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(L) (A)-ID. (B)-AV). (C)-(I). (D)D)
(2)  (A)-IID. (B)-(D). (C)-(IV). (D)-(II)
(3)  (A)-ID. (B)-IV), (C)-(D). (D)-(I1I)
(4 (A)-IV). (B)-(IID). (C)~(D). (D)-(ID)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

i 31 #o faw w E
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o (I0) : HHEE TR, -5 # f99 ° g 2l

IWF T FATAE °, = @3 M0 FEeT § | Wl 39 w1 99 e

(1) =3 (1) 31 (1) 3+ aeF &

(2) =y (1) F (1) 3T 379 &

(3) =9 (1) ucg 2, wifes w94 (ID) s1ge7 2

(4) = (1) FEcA 2, W w99 (1) Je7 7

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

fr=ferfas 9 @ %= @1 39 30 i @z i amar I fGva & sew 9% 'n-ag-Sa-gwE T Hi
Tfshan A Heiw B 7

o

(1) A (2) 4ra
(3) e (4) TE-37=

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

4= 2wy 2T U 2 ;. uF #iHFud (Assertion A) % ®9 H fetEd & df EHTFMW (Reason R) &

TTHF (A) Hymit T we (|25 ) i min 27 v T e )

F (R) : FE TH.SLH. waEEg B

SR FUA F AT 9, A B T fawen § 9 meE Suge I 6 59 Fiia

(1) (A 3 (R) gH1 @@t # 317 (R). (A) FF wdt =mean 2

(2)  (A) 3 (R) A WE E, ST (R), (A) FT HE = 965

(3) (A= B, < (R) @8 781 &

@) (ATATE R, A ®) TR

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13859]
2.2



[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

o

Hr %1 e oy e # : uw afiEes (Assertion A) % ¥ # foifma @ gm0 <mF FEW (Reason R) F

=Y
AR (A) : THTA 3R TFE F T F TEERE SR AEgay meeaas-aa S 6
x (& (s [ %
EE AT H 9EAlad =/ 1347 & |
F (R): AT F AAE H 7 T I Ee siEae 2

SYIE HAA S H, A6 150 T el 3§ WA S =hA i

(1) (A R (R) A T4 % 3R (R). (A) F 78 =men 2

(2)  (A) 3R (R) TH =9 E, S (R). (A) B wE = T# 2

(3) (AT 7, @A (R) 7 o950 2

@ (A) == TE 2, R (R) T E

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) -~ 42%
(3)~37% (4) ~ 28%

(1) ~ 5T7% (2) ~42%
(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13867]
2 [Option ID = 13868]
3 [Option ID = 13869]
4 [Option ID = 13870]

A W N -



36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frefefas & F15 W1 959 297 9 § T948 BY § Iy 7g w@atda R o T 2

(1)  ©Fa AT g7 (2) F HEFOF qo
(3) & (4) wTEE-FHEA

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13871]
2 [Option ID = 13872]
3 [Option ID = 13873]
4 [Option ID = 13874]

A w N -

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot = =t vm, = adeE B -

(1)  =aTeE ST g2 iy (2)  ==TEE §EE wiss ey
(3)  HeZel 9IS HTE HiSS ThiE (4) wHise 9IS HE Uegel TI-HH

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

A wWw N -

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaTE-19 =1 gaee 2 -

(1) =T arstE Sie 317 2019

(2) AT AT e 21 19

(3) FHAET aT7H {5t 317 2019

(4)  =AET aEEE fediE @ 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITL) =340 =1 Ao 2 -

(1) v s=ege Bz sfea



(2) e SEAEgE AT SEeTEl 2

(3)  79FH TEfHE ATF SR S

(4)  FvHd sEEgE ATF gEEETE & SETH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (I) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(ll1), (C)-(I1), (D)-(IV) ~ (2) (A)-(IV), (B)-(lll), (C)-(1), (D)-(Il)

(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1)  (4) (A)-(IV), (B)-(ll1), (C)-(IT), (D)-(1)
=1 % =y g1 = feerm it

THlI FH-11
feam faeft
(A) 9ei-Team I 24 Had
(B) |3 Ty wY fEaw In s
(C) waTER-Tgam (IIT) 24 HFW
(D) =g forem foam (IV) 22 =18

Frt fou 7o fomei § © wE 3 1 =99 it

1) (A-D. (B)-AID. (C)-(I). (D)-(IV)
@) (A)-IV). B)-(III), (C)-(I). D)-1D)
@) (A)-AD. B)-AV). (O)-I). (D)-IID
@) (A)-IV). B)-(IID). (C)-(1D). (D)-(I)

[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]

Topic:- 90Politics_A

1) On whose role has the traditional debates of security focused in internationl relations?
(1) State (2) Terrorism
(3) Non-State actors (4) Environment

St gas § gran dee gt g 8 fead g wea g 20

1 = (2) AT

(3)  =feisfia wew (4)  drdrE
[Question ID = 5176][Question Description = Q01_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20152]
2. 2 [Option ID = 20153]

3. 3 [Option ID = 20154]
4. 4 [Option ID = 20155]



2) Who said, “The ability to subdue enemy without any battle is the ultimate reflection of the most supreme strategy?
(1) Kautilya (2) Machiavelli
(3) Sun Tzu (4) Henry Kissinger

fobe w1 2 b T Topell g2 & vl &1 g w0 6 dra wdtea wfen A @ st w9 207
(1) ifees @  dfEaeh
(3 "I (@) =4 THfam

[Question ID = 5177][Question Description = Q02_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20156]
2. 2 [Option ID = 20157]
3. 3 [Option ID = 20158]
4. 4 [Option ID = 20159]

3) The inter paradigm debate between realism, liberalism and marxism is influenced by which of the following influential

philosophers?
(1) Thomas Kuhn (2) Habermas
(3) Alexander Wendt (4) August Comte

HIEATE, IEFAN 3R qraHare & qe sia ufaur arg fgame fee anife & uafaa gam 7

(1) o= F4 (2)  FeE

(3)  Ueleavel g2 (4)  HiTE HE

[Question ID = 5178][Question Description = Q03_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20160]
2. 2 [Option ID = 20161]
3. 3 [Option ID = 20162]
4. 4 [Option ID = 20163]

4) The first department of international politics was set up at the
(1) University of Oxford (2) University of Cambridge
(3) Harvard University (4) University of Wales (Aberystwyth)

vy st wraifa faam 6 wergan fe

(1) siagwE favafaamer o @  Fiesrs favafaeres §
(3) Erae favafaaes 4 (4) oy favafrarem (tewd=) o

[Question ID = 5179][Question Description = Q04_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20164]
2. 2 [Option ID = 20165]
3. 3 [Option ID = 20166]
4. 4 [Option ID = 20167]

5) The concept of “comprehensive national power” is generally associated with
(1) United States (2) United Kingdom

(3) U.S.S.R (4) China

TS AT U T AU W B ° e Heiud 27

(1) =I9 T (2) TS T
(3) 9 uHTH AR (4 =M

[Question ID = 5180][Question Description = Q05_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20168]
2. 2 [Option ID = 20169]
3. 3 [Option ID = 20170]
4. 4 [Option ID = 20171]

6) Who believed that it is possible to reorganize the jungle into a zoo?
(1) Liberals (2) Realists
(3) Marxists  (4) Nationalists

AT o oo B T T, e o T S Y



(1) EFRC ] (2) HAT]
(3)  HEEEm C

[Question ID = 5181][Question Description = Q06_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20172]
2. 2 [Option ID = 20173]
3. 3 [Option ID = 20174]
4. 4 [Option ID = 20175]

7) Who among the following called liberal internationalism as ‘Utopian’?
(1) E.H Carr (2) H.J Morgenthau
(3) Norman Angell (4) Hedley Bull

&7l | ford A fotawe sovHfass &) e &8 917
() 3049 FH (2) UgH g
(3) Al Usfed @ FeE A

[Question ID = 5182][Question Description = Q07_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20176]
2. 2 [Option ID = 20177]
3. 3 [Option ID = 20178]
4. 4 [Option ID = 20179]

8) Which treaty considered balance of power as the best and most solid basis of mutual friendship and durable harmony?
(1) Augsburg Treaty, 1555 (2) Treaty of Westphalia, 1648
(3) Treaty of Utrecht, 1713 (4) Treaty of Vienna, 1864

T A El WY ol Haer Rl T TS T T S F S AN qEAl B 7

(1)  =figmee O, 1955 (2)  FEETeEn FOig, 1648
(3) o=z Frata, 1713 (4)  fa= i ogia, 1864

[Question ID = 5183][Question Description = Q08_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20180]
2. 2 [Option ID = 20181]
3. 3 [Option ID = 20182]
4. 4 [Option ID = 20183]

9) Which occupying power was the first to allow the formation of democratic parties in its zone in Germany in June 1945?
(1) USA (2) UK
(3) France (4) USSR

el HidaTell 98 Tgefl vifdd - oft e 5m 1945 | Sd 10 e 9m 4 2ankfos widEl % e
1 srufa 4 o

() 3Juwvu @ A

(3) wH (4  wifgaa w9

[Question ID = 5184][Question Description = Q09_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20184]
2. 2 [Option ID = 20185]
3. 3 [Option ID = 20186]
4. 4 [Option ID = 20187]

10) The Thirty Year’s War which devastated Europe began as a

(1) Political dispute (2) Religious dispute
(3) Economic dispute (4) Dispute between the kings and subjects

A affg 7g Forr i 4 fawem g=mn, fefatad § | e s 1 = zan @

(1)  Trifaes feare 2 i faarg
(3) i faarg (@) T 3R e o T



[Question ID = 5185][Question Description = Q10_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20188]
2. 2 [Option ID = 20189]
3. 3 [Option ID = 20190]
4. 4 [Option ID = 20191]

11) The term “League of Nations” was first coined by
(1) G.L. Dickinson (2) Winston Churchil
(3) Woodrow Wilson (4) V.Lenin

‘eftm 317E J9rE’ gg gduem e e ane
(1) Shua. fefdaa 2 faem afda
(3) 93 faeaq @ . afe

[Question ID = 5186][Question Description = Q11_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20192]
2. 2 [Option ID = 20193]
3. 3 [Option ID = 20194]
4. 4 [Option ID = 20195]

12) Which country joined the Concert of Europe after 1818?
(1) Russia (2) Prussia
(3) Austria (4) France

1818 & 18 ®H-H1 29 “®Hd 1% g7’ ° wnfier gan o
(1) =4 (2 wfgEn
(3) ke @ wH

[Question ID = 5187][Question Description = Q12_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20196]
2. 2 [Option ID = 20197]
3. 3 [Option ID = 20198]
4. 4 [Option ID = 20199]

13) What was the main objective of the Berlin West Africa conference of 1884-85?

(1) To manage slave trade from Africa (2) To manage raw material supply to Europe
(3) To manage the process of coloniolisation in Africa (4) To end the policy of apartheid in south Africa

1884-85 o @fcid 92 THIH HHH F1 §E3 99 71 A7
(1) 3Tl § EHaTE S S9N &1 Fefed e

(2) i w1 F FEEef F=2 e F sy # oghfia g
(3)  3rhrel 4 sAafrasiieso i ufsn &1 vefaa s

(4)  efem sefhreR o vrig 6 il @1 s

[Question ID = 5188][Question Description = Q13_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20200]
2. 2 [Option ID = 20201]
3. 3 [Option ID = 20202]
4. 4 [Option ID = 20203]

14) When the long awaited second front against Germany opened?
(1) September 1, 1939 when German troops invaded Poland (2) July 10, 1940 when Germany attacked England
(3) June 22, 1941 when Germany attacked Soviet Union (4) June 7, 1944 when Germany invaded France

i & T ol wwg @ weifera qan gl we gen 7

(1) 1 Tadsr, 1939 %1 5& w0 6 I 9 greie st fea
(2) 10 T8, 1940 %1 F9 T 3 $As W IHA fma

(3) 22 94, 1941 I 7= w0+ 37 Hifama w9 w0 s fe



(4) 7 9, 1944 99 T 4 w1 fE

[Question ID = 5189][Question Description = Q14_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20204]
2. 2 [Option ID = 20205]
3. 3 [Option ID = 20206]
4. 4 [Option ID = 20207]

15) The discovery of the “New” World by the Europeans refers to:
(1) Africa (2) Asia
(3) America (4) Australia

P & W gr A fava & @i feey defila 2 -
(1) s (2) U
(3)  wf (4)  wmfemn

[Question ID = 5190][Question Description = Q15_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20208]
2. 2 [Option ID = 20209]
3. 3 [Option ID = 20210]
4. 4 [Option ID = 20211]

16) Who said that the Cold War preceeded from the very moment the Bolsheviks triumphed in Russia in 1917?
(1) Woodrow Wilson (2) Howard Roffmann
(3) Winston Churchil (4) Franklin Roosevelt

gz forad &z o1 T 3 gg 6 smana € waa | 8 1 i 99 arevifas 9dl 4 1917 4 ' 4 fawy
aifire i ot 7

(1) gz faeeq (2) EES TR
(38 faem =fda 4y  ThEfem Eugee

[Question ID = 5191][Question Description = Q16_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20212]
2. 2 [Option ID = 20213]
3. 3 [Option ID = 20214]
4. 4 [Option ID = 20215]

17) Who considered the proliferation of all types of trade agreements as ‘termites in the trading system?
(1) Amartya Sen (2) Kaushik Basu
(3) Jagdish Bhagwati (4) Meghnad Desai

=98 § fouss od U =R HuEiidl & YHR &1 THR SR eFae U e 27
(1) e 3 (2 it &g
(3) S wEd (4)  HEEIG GETE

[Question ID = 5192][Question Description = Q17_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20216]
2. 2 [Option ID = 20217]
3. 3 [Option ID = 20218]
4. 4 [Option ID = 20219]

18) When was the UN Department of Peacekeeping Operations establied?
(1) 1945 (2) 1950
(3) 1991 (4) 1992
A T He < 9T a4 T el 1A % faam fe e v g4 v
(1) 1945 2) 1950
(3) 1991 (4) 1992

[Question ID = 5193][Question Description = Q18_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20220]



2. 2 [Option ID = 20221]
3. 3 [Option ID = 20222]
4. 4 [Option ID = 20223]

19) Which one of these is not a consequence of globalization?
(1) Global economic crisis, 2008 (2) Eurozone crisis, 2009
(3) American Withdrawal from WHO (4) Growing economic inequality

T | HH YHUSETHD F1 T T8 27
(1)  fawa s |92, 2008 (2)  FAH Hehe, 2009

(3)  wufeR 20 fava @R WieA &l aiedl (4) | dl gl e s

[Question ID = 5194][Question Description = Q19_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20224]
2. 2 [Option ID = 20225]
3. 3 [Option ID = 20226]
4. 4 [Option ID = 20227]

20) Which country is not a member of the Asian Infrastructure Investmement Bank (AlIB)?
(1) United States (2) United Kingdom
(3) South Korea (4) Australia

T § FH VA SRR S a9 (U o fa) % Hews 9d 2
(1) Hgd T (2)  FA13E fdhen
(3)  efemfi wifen @ e

[Question ID = 5195][Question Description = Q20_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20228]
2. 2 [Option ID = 20229]
3. 3 [Option ID = 20230]
4. 4 [Option ID = 20231]

21) Which of the following UN organizations celebrates 75t year of its existence in January 2021?
(1) UN Security Council (2) UN General Assembly
(3) UNESCO (4) UN Human Rights Council

U 0 | HYa T & [HE TS A A R 6 75 @6 et 2021 ° 4 2

(1) &g g Hraq g () Y A 3

=, =,

(3) Rl (4) g s HEATER Tig

[Question ID = 5196][Question Description = Q21_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20232]
2. 2 [Option ID = 20233]
3. 3 [Option ID = 20234]
4. 4 [Option ID = 20235]

22) Who among the following dubbed International Monetary Fund (IMF) as the “International Misery Fund”?
(1) Anwar Sadat (2) Hosni Mubarak
(3) Robert Mugabe (4) Bassar al Asad

8 7§ fFad o vnu i sieiE e w i ome Y

(1) AT Jed (2) F‘Tg:n,; FW
(3) T g (4) w9 #= g

[Question ID = 5197][Question Description = Q22_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20236]
2. 2 [Option ID = 20237]
3. 3 [Option ID = 20238]
4. 4 [Option ID = 20239]

23) The headquarter of the Permanent Court of Arbitration is located in which European city?
(1) Geneva (2) Paris



(3) The Hague (4) Brussels
TRl yrerEy ATy &1 gEed e g e g wafem 27

L 2 U
3 = 4 FEH

[Question ID = 5198][Question Description = Q23_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20240]
2. 2 [Option ID = 20241]
3. 3 [Option ID = 20242]
4. 4 [Option ID = 20243]

24) The Shanghai Cooperation Organisation (SCO) was earlier known as:
(1) Shanghai Principles (2) Shanghai Spirit
(3) Shanghai Bloc (4) Shanghai Five

STE1E HEAE HEA (VA Hi A qd U {6 A d SE S oo e

(1) v fagE 2 S gE
(3) R wAS (4)  wETE e

[Question ID = 5199][Question Description = Q24_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20244]
2. 2 [Option ID = 20245]
3. 3 [Option ID = 20246]
4. 4 [Option ID = 20247]

25) Who said “Third world was not a place, it was a project.”
(1) Vijay Prashad (2) A.G. Frank
(3) L.S. Stavrianos (4) Friedrich Ratzel

“efrafl e i v 98 a9 vs ofrwer o, fastfafad O 8 few wem 2

(1) fawa var (2) Sl e
(3) UHA.uH. Lafisry (4)  Whefe oA

[Question ID = 5200][Question Description = Q25_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20248]
2. 2 [Option ID = 20249]
3. 3 [Option ID = 20250]
4. 4 [Option ID = 20251]

26) Recent India Nepal dispute arose over the following territory.
(1) Doklam (2) Kalapani

(3) Aksai Chin (4) Gilgit Baltistan

7T # § WHa-Tu foE feffEn § ¥ 5 g-43 5 30 g

-

(1) ==Fem (2)  FrEE
(3)  =FaE =91 (4) TR s

[Question ID = 5201][Question Description = Q26_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20252]
2. 2 [Option ID = 20253]
3. 3 [Option ID = 20254]
4. 4 [Option ID = 20255]

27) India bought Rafale fighters (medium, multi role combat aircraft) from which country?
(1) France (2) Germany
(3) Russia (4) America

wrd A freAferfiaa 4 @ feva g @ e e fanm (qem, gg-yive a2 faum) et
(1) %M @ o
(3 =4 (49  wgiie



[Question ID = 5202][Question Description = Q27_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20256]
2. 2 [Option ID = 20257]
3. 3 [Option ID = 20258]
4. 4 [Option ID = 20259]

28) India is a member of which of the following regional organizations
(1) Regional comprehensive Economic partnership (2) Association of South East Asian Nations
(3) Shanghai Cooperation organization (4) Gulf cooperation Council

urd fafafiga 0 4 fea eefia dusa = ae 2
(1)  &efa s s wEe

(2)  afem gd % ufiend S @ it

(3) 9IS WRWr HeA

(4)  @rE wEEn qHe

[Question ID = 5203][Question Description = Q28_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20260]
2. 2 [Option ID = 20261]
3. 3 [Option ID = 20262]
4. 4 [Option ID = 20263]

29) Indian Navy’s Brahmos supersonic missile was built by which of the following defence public sector units
(1) Hindustan Aeronautics Limited, Bangalore (2) Goa Shipyard Limited, Goa
(3) Mazgaon Dock, Mumbai (4) Gardeners and Research Engineering Shipyard Ltd., Kolkata

e AT & o gam e e e e o fefafaa O 8 e serd e % 30w g
ST I R

(1)  fergeam vgiEifem fafies, S

(2) e faraEnd fefges, e

(3)  uSHTiE =ik,

(4) e wvg frod gefifratm fire fofues, sesmE

[Question ID = 5204][Question Description = Q29_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20264]
2. 2 [Option ID = 20265]
3. 3 [Option ID = 20266]
4. 4 [Option ID = 20267]

30) India’s current weight voting share in IMF is
(1) 4.25 (2) 6.15
(3) 3.55 (4) 2.76

HAEST ggl 8 YA 1 ad9 d2-aifen 9 2
(1) 425 @ 615

(3) 3.55 @ 2.76

[Question ID = 5205][Question Description = Q30_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20268]
2. 2 [Option ID = 20269]
3. 3 [Option ID = 20270]
4. 4 [Option ID = 20271]

31) India’s foreign policy position that “terror and talks cannot go together” is meant for which country?
(1) China (2) Pakistan

(3) Bangladesh (4) Myanmar

qd i fagw fifd &1 92 =@ fo snde 30 GEl @my-my T8 9 q6d, B <@ # 3fa wh Fw

ERIE X
(1 H @  uifrm

(3) =gy (4) ©mER

[Question ID = 5206][Question Description = Q31_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20272]



2. 2 [Option ID = 20273]
3. 3 [Option ID = 20274]
4. 4 [Option ID = 20275]

32) Which country has labelled the Quad as the Asian version of NATO?
(1) Pakistan (2) China
(3) Russia (4) North Korea

19 291 4 =2 F A9 T UOEE R FE B Y

(1) o= (2) =\
3y =4 (4) = FTm

[Question ID = 5207][Question Description = Q32_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20276]
2. 2 [Option ID = 20277]
3. 3 [Option ID = 20278]
4. 4 [Option ID = 20279]

33) “Black Lives Matter” is a protest movement in which of the following countries that hogged the headlines in 2020?

(1) South Africa (2) UK
(3) Canada (4) USA

ader eiresn frer wp fordir 1 fam 21 4 ufew a4 2020 i Prferfiga 1 A few 2w i g i w0

(1)  gfamr sk (2 Fgee fhrew
(3) A= (4)  ©FE TS AL

[Question ID = 5208][Question Description = Q33_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20280]
2. 2 [Option ID = 20281]
3. 3 [Option ID = 20282]
4. 4 [Option ID = 20283]

34) Who first used the term “Global South”?
(1) Carl Oglesby (2) Alvaro Mendez
(3) Leigh Anne Duck (4) A.G. Frank

Trad H139 (Sl qaveeia) weg &1 WEF Taell an fhe e ane

(1) el 3PTerE (2) e gd
(3) g U =h @  ufl

[Question ID = 5209][Question Description = Q34_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20284]
2. 2 [Option ID = 20285]
3. 3 [Option ID = 20286]
4. 4 [Option ID = 20287]

35) Which one of the following Central Asian Countries has recently renamed its capital after a former President?
(1) Kazakhstan (2) Tajikistan
(3) Turkmenistan (4) Uzbekistan

T=ATeEs 9 ° 68 559 UEETE 59 9 B B AT U S A Hadae TE 6 A W T

(1) FangeEH (2) dAtamEE
(3) TwaAEE (4)  FFErEEE

wd

[Question ID = 5210][Question Description = Q35_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20288]
2. 2 [Option ID = 20289]
3. 3 [Option ID = 20290]
4. 4 [Option ID = 20291]

36) The Upper House of Nepal’s Parliament is known as:
(1) Lok Sabha (2) Lok Sadan
(3) Rastriya Sadan (4) Rastriya Sabha

9Tl % HHE F1 I T AHT A4 2
(1) & 9w (2) i Hed

-
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[Question ID = 5211][Question Description = Q36_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20292]
2. 2 [Option ID = 20293]
3. 3 [Option ID = 20294]
4. 4 [Option ID = 20295]

37) A round of peace talks between Taliban and Afghan Government’s representatives was being held in the first week of
2021. The venue of the meeting was

(1) Kabul (2) Geneva
(3) Doha (4) Tokyo

Afea™ 3T AFNRAR JFR o GfdHEE + &= U oe® 2021 & 998 5@ § g4i| 36 o93% &I
wE Al

(1) &HEA (2) S
(3) g @  ZeE

[Question ID = 5212][Question Description = Q37_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20296]
2. 2 [Option ID = 20297]
3. 3 [Option ID = 20298]
4. 4 [Option ID = 20299]

38) Between 1937 and 1948, Gandhiji had been nominated five times for the Nobel Peace Prize, only to be denied the
honour because he was?

(1) Not a scientist (2) Not a real politician
(3) Not a Prime Minister (4) Not a gentleman

1937 31 1948 & geg i 5fi %1 9T AW Fi"d vf gEsE & fae qmifed fea w32 w8 auE o
afed foran man &= o6 9

(1) i 9 @ i 7@ 9

(3) uuE HA 9@ 9 (4) wF safer TE 9

[Question ID = 5213][Question Description = Q38_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20300]
2. 2 [Option ID = 20301]
3. 3 [Option ID = 20302]
4. 4 [Option ID = 20303]

39) The term “Guided democracy” refers to which of the following Southeast Asian leaders?
(1) Sukarno (2) Mahathir Mohammad

(3) Lee Kuan Yew (4) Ho Chi Minh

“femmfrdfera (Mee) wirda’ we w1 I g ofern % fEa J@ % fe F 2

(1) g (2 warfd AEmEg
(3) o pIA Y 4 g fm

[Question ID = 5214][Question Description = Q39_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20304]
2. 2 [Option ID = 20305]
3. 3 [Option ID = 20306]
4. 4 [Option ID = 20307]

40) Who among the following was the first Central Asian leader to visit India after the creation of five Central Asian
Republics?
(1) Nursultan Nazarbayev (2) Islam Karimov
(3) Saparmurat Niyazov (4) Askar Akayev
[y UfYETS O RISl % @44 o U9Ed WA 6 ¢H T STHETE el Hed Ui Hal FHefefEa § |
i 7

(1) THeAH THaEE (2) T HifE
(3) wwHEE FETE (4)  HEH FHEE

[Question ID = 5215][Question Description = Q40_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20308]
2. 2 [Option ID = 20309]



3. 3 [Option ID = 20310]
4. 4 [Option ID = 20311]

41) The effects of the disintegration of the Soviet Union were:

(A) The emergence of historic ethnic conflicts in Georgia, Armenia and Azerbaijan, as well as in Central Asian Republics
(B) Boris Yeltsin became the first directly elected President of Russia

(C) The US imposed tough sanctions against Soviet Union, and cancellation of a planned gas line to Western Europe.
Choose the most appropriate answer from the options given below:

(1) (A) and (B) only (2) (B) and (C) only

(3) (A) and (C) only (4) (A) only

Hifard |99 & faaveg @ yaE 29 9HE o

(A) it sty sraEEaE 3 S ofsen & g o I gad #1393

(B) e Ifeedn =5 F vem veny frdifEa gt 59

(C)  diferra wa w snifre 3 2 afaay fadl qen sad ufdem gim % wa | uvarEd 6 doe 5
e a faan

= fgu o fgeredi 0 9 Had I9gF I &1 951 FHifa
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(4 %A (A)

[Question ID = 5216][Question Description = Q41_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20312]
2.2

[Option ID = 20313]
3.3

[Option ID = 20314]
4. 4

[Option ID = 20315]

42) In People’s Republic of China, following programmes were announced by Mao
(A) Great Leap Forward

(B) Self-immolations

(C) Cultural Revolution

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only (2) (B) and (C) only

(3) (A) and (C) only (4) (A) only

g H T R 6 greon man g fgen ffsds sime =rén 1 fean

(Aa)  Ue fora wiad

(B) R
(C)  Hrakfds wifd
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[Question ID = 5217][Question Description = Q42_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20316]
2. 2 [Option ID = 20317]
3. 3 [Option ID = 20318]
4. 4 [Option ID = 20319]

43) What were the objectives of UN Secretary General Kofi Annan for 215t Century?
(A) War against terrorism

(B) Peace keeping and peace building

(C) Human security

Choose the most appropriate answer from the options given below:

(1) (A) only (2) (B) only

(3) (C) only (4) (A) and (C) only

HYF 5 HE HEEEE Sl FE % 2167 vl & fu wn s 97

(A)  Td%arE & favg 38
(B)  wifd " e vg wif wenfoa e

(C)  HrHd e

Fr4 feu o faskedi § | waq 379 I F1 T HIloA0

(1)  =dd (A)
(2)  @*dd (B)
(3)  @dad (C)

(4) e (A) H (C)

[Question ID = 5218][Question Description = Q43_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20320]
2. 2 [Option ID = 20321]
3. 3 [Option ID = 20322]
4. 4 [Option ID = 20323]

44) The identification of global commons is governed by
(A) National Interest

(B) Interest of powerful countries

(C) Interest of economically under-developed countries
(D) Common heritage of mankind

(E) Interest of the United States

Choose the correct answer from the options given below:
(1) (A) only (2) (C) only

(3) (B) and (E) only (4) (D) only

Afvge ¥ 9 Hagay wyidgrn w1 faaatea fefafaa O | fean g sm@uia g 27
(&) g

B) il W fad
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(2)  @%dd (C)
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[Question ID = 5219][Question Description = Q44_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20324]
2. 2 [Option ID = 20325]
3. 3 [Option ID = 20326]
4. 4 [Option ID = 20327]

45) As per the Beijing Consensus:

(A) Economic policies should aim to win a trade war with the USA

(B) Economic policies should be compatible with the country’s political structure and cultural experience
(C) Economic policies should aim to win the Ladakh military stand-off with India

(D) Economic policies should find the Belt and Road Initiative

Choose the correct answer from the options given below:

(1) (B) only (2) (A) only

(3) (C) only (4) (D) only

fifim i 7 wwaf % AR

@A) e Hifadi # sqeva 9.0, it F Wy savn-gg ° fawg e Fen @En =t
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[Question ID = 5220][Question Description = Q45_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20328]
2. 2 [Option ID = 20329]
3. 3 [Option ID = 20330]
4. 4 [Option ID = 20331]

46) The first sector to feel the impact of the USA financial crisis in 2007 was
(A) Energy sector

(B) Education sector

(C) Subprime mortgage market

(D) Health sector

Choose the most appropriate answer from the options given below:

(1) (D) only (2) (B) only

(3) (A) only (4) (C) only

9 2007 § 9.7 56 § A0 G50 T2 F THEE 9 T9Ed 26 97 TRl 89 o
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[Question ID = 5221][Question Description = Q46_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20332]
2. 2 [Option ID = 20333]
3. 3 [Option ID = 20334]
4. 4 [Option ID = 20335]

47) India’s defence industrial sector comprises

(A) State owned enterprises

(B) Defence public sector under takings

(C) Ordnance factories

(D) Private Companies

(E) Multinational Companies

Choose the correct answer from the options given below:
(1) (A) and (B) only (2) (A), (B) and (C) only

(3) (C), (D) and (E) only (4) (A), (D) and (E) only

HRA = &7 it & 4 wmfue 2
(A) T & warfyeEndE 32w

(B) TN & & EEH 8 I9EH
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[Question ID = 5222][Question Description = Q47_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20336]
2. 2 [Option ID = 20337]
3. 3 [Option ID = 20338]
4. 4 [Option ID = 20339]

48) Which of the countries had refused to endorse the use of NATO by American leadership during the 2003 Iraq war?
(A) France and Germany

(B) British and France

(C) Italy and British

Choose the most appropriate answer from the options given below:

(1) (A) only (2) (A) and (B) only

(3) (A) and (C) only (4) (B) and (C) only
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[Question ID = 5223][Question Description = Q48_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 20340]
2.2

[Option ID = 20341]
3.3

[Option ID = 20342]
4. 4

[Option ID = 20343]

49) Indo-Pacific has become a theatre of geostrategic ballgame in recent times. Which of the following is true in this
context?
(A) China’s Indo-Pacific adventurism is an important dimension of the “China Dream”
(B) India has territorial claims in the Indo-Pacific
(C) Japan advocates the free and open Indo-Pacific
Choose the most appropriate answer from the options given below:
(1) (A) only (2) (B) and (C) only
(3) (B) only (4) (A) and (C) only
- &7 F AN 8 Y- TR He T a9 T A 79 HAg § Hefanad 8 8 w6 w6

?

e

(A =\ = e &9 1 g i e Fe # U sy e 2
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Fre T5u e faseal § O Hed S9gFd ST 1 9AE i

(1) === (A)
(2) === (B) #17 (C)
(3)  Fa= (B)

(4)  =aEE (A) 3J O

[Question ID = 5224][Question Description = Q49_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20344]
2. 2 [Option ID = 20345]
3. 3 [Option ID = 20346]
4. 4 [Option ID = 20347]

50) Which of the following is true about US policy towards Uyghurs in recent times?
(A) USA uses Uyghurs as a card against China



(B) USA provides arms to Uyghurs

(C) USA announced an import ban on cotton and tomato products from Xinjiang that are produced by Uyghurs detained in
China

Choose the most appropriate answer from the options given below:
(1) (A) only (2) (B) only
(3) (C) only (4) (A) and (B) only
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[Question ID = 5225][Question Description = Q50_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20348]
2. 2 [Option ID = 20349]
3. 3 [Option ID = 20350]
4. 4 [Option ID = 20351]

51) After a military crackdown by Myanmar government in August 2017, Rohingya refugees took shelter in Bangladesh.
What is true about Rohingyas in Bangaladesh?

(A) More than one million Rohingya people are staying in Bangladesh

(B) The Rohingyas mostly live in the Cox Bazar area of Bangladesh

(C) Rohingyas are given temporary citizenship in Bangladesh

Choose the most appropriate answer from the options given below:

(1) (A) only (2) (B) only

(3) (C) only (4) (A) and (B) only
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[Question ID = 5226][Question Description = Q51_IRAS_SHAAN_20NOV21_S1_Shift2]



1 [Option ID = 20352]
2 [Option ID = 20353]
3 [Option ID = 20354]
4 [Option ID = 20355]

A W N -

52) The adoption of Indo-Paific as Australia’s self-identified strategic space has significant consequences. What are these?

(A) It will enhance Australia’s role world wide in economic matters

(B) It can help provide a better understanding of Australia’s role in any US-China confrontation in future
(C) It can frame the scope of Australia’s relationship with Japan, France and India

Choose the most appropriate answer from the options given below:

(1) (A) only (2) (B) only

(3) (B) and (C) only (4) (A) and (B) only
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[Question ID = 5227][Question Description = Q52_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 20356]
2.2

[Option ID = 20357]
3.3

[Option ID = 20358]
4. 4

[Option ID = 20359]

53) Which of the following is true about Iran’s nuclear deal?

(A) USA unilaterally withdrew from Iran’s nuclear deal in 2018

(B) Iran imposed trade embargo on USA

(C) USA cited Iran’s ballistic missile programme as one of the reasons to withdraw from the nuclear deal
Choose the most appropriate answer from the options given below:

(1) (A) only (2) (B) only

(3) (C) only (4) (A) and (C) only
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[Question ID = 5228][Question Description = Q53_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20360]
2. 2 [Option ID = 20361]
3. 3 [Option ID = 20362]
4. 4 [Option ID = 20363]

54) Which of the following is true about Pukguksong-5?

(A) It is a missile launched by China

(B) It is a new Submarine-launched ballistic missile

(C) It is developed by North Korea

Choose the most appropriate answer from the options given below:
(1) (A) only (2) (B) and (C) only

(3) (B) only (4) (A) and (C) only

frrferfiga o 4 =5 qeEEm-s & 9n 0w 27
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[Question ID = 5229][Question Description = Q54_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20364]
2. 2 [Option ID = 20365]
3. 3 [Option ID = 20366]
4. 4 [Option ID = 20367]

55) The importance of South China Sea stems from which of the following facts?
(A) China claims nearly all of the South China Sea
(B) US has opposed China’s territorial claims in South China Sea
(C) India has established a military base in South China Sea
Choose the most appropriate answer from the options given below:
(1) (A) only (2) (B) only
(3) (C) only (4) (A) and (B) only
wiem-<i =R 1 gEe FetetEn R s R g e a e
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[Question ID = 5230][Question Description = Q55_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20368]
2. 2 [Option ID = 20369]
3. 3 [Option ID = 20370]
4. 4 [Option ID = 20371]

56) The China National offshore oil corporation is in news because
(A) It is working with an Indian oil Company

(B) It is building the biggest oil pipeline in USA

(C) It is added to a US Commerce Department blacklist

Choose the most appropriate answer from the options given below:
(1) (A) only (2) (B) only

(3) (C) only (4) (B) and (C) only
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[Question ID = 5231][Question Description = Q56_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20372]
2. 2 [Option ID = 20373]
3. 3 [Option ID = 20374]
4. 4 [Option ID = 20375]

57) The recently published report, “Global Britain, Global Broker” by the Royal Institute of International Affairs, highlights
which of the following

(A) USA hegemony across the globe will continue

(B) Britain can remain internationally influential

(C) Britain will be a global hegemon

Choose the most appropriate answer from the options given below:

(1) (A) only (2) (B) only

(3) (A) and (C) only (4) (C) only
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[Question ID = 5232][Question Description = Q57_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20376]
2. 2 [Option ID = 20377]
3. 3 [Option ID = 20378]
4. 4 [Option ID = 20379]

58) The main factor behind dispute between Saudi Arabia and Qatar is
(A) Qatar’s support for Pakistan

(B) Reunification of Gulf Cooperation Council

(C) Qatar’s support for Iran

Choose the most appropriate answer from the options given below:

(1) (A) only (2) (B) only

(3) (A) and (B) only (4) (C) only
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[Question ID = 5233][Question Description = Q58_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20380]
2. 2 [Option ID = 20381]
3. 3 [Option ID = 20382]
4. 4 [Option ID = 20383]

59) The process of globalisation owes its emergence in the last decades of twentieth century to which of the following
(A) Improvements in Transportation

(B) Improvements in information technology

(C) Improvements in communication

(D) Religious revival

Choose the correct answer from the options given below:

(1) (A) only (2) (C) and (D) only

(3) (D) only (4) (A), (B), and (C) only
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[Question ID = 5234][Question Description = Q59_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20384]
2. 2 [Option ID = 20385]
3. 3 [Option ID = 20386]
4. 4 [Option ID = 20387]

60) International law is

(A) Established by states through either custom or convention
(B) To facilitate international cooperation

(C) A body of rules linked together in a common logical structure
(D) An adhoc list of rules

Choose the correct answer from the options given below:

(1) (A) only (2) (B) only

(3) (D) only (4) (A), (B) and (C) only
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[Question ID = 5235][Question Description = Q60_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20388]
2. 2 [Option ID = 20389]
3. 3 [Option ID = 20390]
4. 4 [Option ID = 20391]

61) The primary components of post-war global order were?
(A) Emergence of US as the leading nation on world stage
(B) Spread of democratic institutions

(C) Supremacy of Russia on economic and military terms

(D) Emergence of China as World’s No.1 economy

Choose the correct answer from the options given below:

(1) (A) only (2) (A) and (B) only

(3) (C) only (4) (D) only
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[Question ID = 5236][Question Description = Q61_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20392]
2. 2 [Option ID = 20393]
3. 3 [Option ID = 20394]
4. 4 [Option ID = 20395]

62) The main pillars of universal declaration of Human rights are
(A) Liberty, equality, fraternity

(B) Religious affinity

(C) Culture

(D) Dignity

Choose the correct answer from the options given below:

(1) (B) only (2) (C) only

(3) (D) only (4) (D) and (A) only

AT & HEHm S & JE w6y 8 -
(A)  TEIEA, HAEA ST 9

(B) it qragd

(C)  wehfd

2

(D)  HAE

49 feu v faweqi 0 9 gd1 39 = 999 fifso

(1) e (B)
(2) &« (C)
(3)  @%de (D)

(4 =ael (D) 3 ()

[Question ID = 5237][Question Description = Q62_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20396]
2. 2 [Option ID = 20397]
3. 3 [Option ID = 20398]
4. 4 [Option ID = 20399]

63) Which of the following is true about India’s role in international politics in the 1950s?
(A) India underwent nuclear test

(B) India became the member of UN Security Council

(C) India led the non-aligned nations

(D) India became a top exporter

Choose the correct answer from the options given below:



(1) (A) only (2) (B) only
(3) (C) only (4) (D) only
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= feu o fawedi 0 9 w8 3 &1 999 Fifau .

(1) % (A)
(2) %9 (B)
(3) %4 (C)
4 % (D)

[Question ID = 5238][Question Description = Q63_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20400]
2. 2 [Option ID = 20401]
3. 3 [Option ID = 20402]
4. 4 [Option ID = 20403]

64) India’s Look West policy in the last half a dozen years has been a hallmark of Narendra Modi Government’s foreign
policy. Which of the following are the main objectives of this policy?
(A) To gain the favour of West Asian countries to counter Pakistan
(B) To get access to the energy resources of the West Asia Region
(C) To target China
(D) To import arms and ammunition
Choose the correct answer from the options given below:
(1) (C) only (2) (D) only
(3) (A) only (4) (A) and (B) only
qra F e ZE 9w § ufrawae fid (9% 9w o) W w9 e fi mew fiw w -t

(FremT) T 2| Frefataa @ & 77 59 A F g wva 27

(A)  TFEEE A FA o aivem v o e e e #e
(B)  feem v % i # e T T A

(Cy = = @5T wH 7

(D) =hEm s ey = felE = g

Hi= fou T o ® ° wE I 99 Fiee

(1) == (C)
(2) #Faa (D)
(3)  Fae (A)
(49 Fad (A) IR (B)

[Question ID = 5239][Question Description = Q64_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20404]
2. 2 [Option ID = 20405]
3. 3 [Option ID = 20406]
4. 4 [Option ID = 20407]

65) A country’s foreign policy consists of
(A) Demarcation of territorial boundaries
(B) Self interest strategies chosen by the state to safeguard its national interest



(C) Showcasing economic and military prowess

(D) Achieving goals within its international relations milieu
Choose the correct answer from the options given below:
(1) (A) only (2) (B) and (D) only

(3) (B) and (C) only (4) (C) only

ferefi 2w 61 ferem Fifa o snfger 2 -
(A) i Hima %1 i
(B) T grl 3194 g Tza < ren & oo wa-faindi worifai @ =em
(C) i 3 H=g el %1 WeyH
(D) 3 SR Fay Ifigyd § @61 9 FE
4 feu o faregi 4 9 odl 39 &1 =39 FHifo .
(1)  *ae (A)
(2) = (B) 3l (D)
(3)  #ad (B) 3 (C)
(4) == (C)
[Question ID = 5240][Question Description = Q65_IRAS_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 20408]
2 [Option ID = 20409]

3 [Option ID = 20410]
4 [Option ID = 20411]

A WN -

66) Match List | with List Il :

List | List Il

Theories Proponents
(A) Sociological liberalism () Michael Doyle
(B) Interdependence liberalism (Il) Niemann
(C) Institutional liberalism (lll) James Rosenau
(D) Republican liberalism (IV) Robert Keohane

Choose the correct answer from the options given below:

(A)-(v), (B) - (), € - (m, (D) -
(m

2 (A)-am, (B) - (v), (€) - @, (D) - D

(A) - (), (8) - (m, (€) - (av), (@) -
(m

4 (A-aD, () - @, (€) - @av), (d) -

(1

(3)

Hl I < |19 g 11 &1 faer ifa .
qH1 T g1 11
fagm AT
(A) HifsEETTHd fefas @D HEHA €I
(B) seifeusy foarfarsy (I fia
(©) i ferafersn (D) S T9E
(D) Frafeste fersfersy (IV) Tard fensirea

dre Teu v faeeted] 9 |8 I &1 =994 Fifu .

1 @W-amv. ® -@. (© -adnh @O - d
(2) @A-dn. ® - dv. (¢ -an. @O - @



(3)
(4)

(&) —(@.
(&) — ().

(B) — (IID.
(B) — (1),

(C) — av).
(C) — av),

(D) — (ID)

(D) — @D

[Question ID = 5241][Question Description = Q66_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 20412]
2.2

[Option ID = 20413]
3.3

[Option ID = 20414]
4. 4

[Option ID = 20415]

67) Match List | with List Il :

List | List Il
Books Authors
(A) Theory of international politics 0 Robert 0.Keohane and Joseph
S.Nye
(B) Politics among Nations: The ()  Bruce M. Russett and John R.
struggle for power and peace Neal

(©)

(D) Triangulating peace:
Democracy, interdependence and
international organisations

Power and interdependance () Kenneth N. Waltz

(IV) Hans J. Morgenthau, Kenneth
W.Thompson and W. David Clinton

Choose the correct answer from the options given below:

(1) (A)-av), (B) -, () -y, @ - O
(A) -, (B) - (Iv), (€) - (), (D) -
(2) (il
(A) - (D, (B) - (n, (€) - (m, (D) -
(3) (Iv)
(A)-(y, (B) - (), € - (v), (D) -
) (I
gl I % | =0 11 &1 ferm Sifao
=l 1 o= 11
(A) e 31T geree diferfeaa (D Tad 30 F929 30 FEs vy Ty
(B) WifcAfea Unm J9E : d =oe R R (D) §H U EH 3R A AR, e
g i
(C) R g sfeieH (1) 3y U4 Fee
D) grEErdn d| o ikl gofeise we V) HA S AREUTS, FHu gsq Aigve 3 osg

49 feu v faeeed 9 99 I &1 99 Hifao

1 @-dv), @ - dh. ©) - 1), @O - @D

2 @-dpn. B - av). © -@O. @O - dn
3 @-0O @G -dad. © - Jdn. @O - av
@ @W-a. ®-a0. (© -av. O - dm

[Question ID = 5242][Question Description = Q67_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20416]
2.2

[Option ID = 20417]
3.3



[Option ID = 20418]
4. 4

[Option ID = 20419]

68) Match List | with List Il :

List | List Il

Universal Treaties Year of Force
(A) Genocide Convention 0] 1968
(B) Non Proliferation Treaty () 1948
(C) Outer Space Treaty (ry 1996

(D) Comprehensive Nuclear Test Ban

V) 1967
Treaty (v)

Choose the correct answer from the options given below:

A)-a, @) -, (©) - @), (@O -

) (I
) :ﬁ«l))-(l), (B) - (), (€) - @v), (D) -

3)  (A)-am, (B) - (IvV), (€) - (1, (D) - (h
(A)-@v), (B) - (), (€) - @D, (D) -

(4) (i
Tt 1% 2 gt 1L % faem Fiew

Tt I o= 11
(A) TAEEE FAEE (I) 1968
(B) i wifersEE Ze (I) 1948
(C) =r3zx =g Fidl (IIT) 1996
(D) FEFAEE FfF 25 31 FE (IV) 1967
Hi fou v fawereal O wE I H =9 FiE

(1) A)-dn. @ - @O. (©) - av). (D) — I

(2) (A) — (D). (B) — I, (C) — dOV). (D) — (III)

(3) (A—10I). B) —dV). (C) - I, @O — O

(4) (A)—(IV). (B) — (IID. (C) — (D). (D) — D

[Question ID = 5243][Question Description = Q68_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20420]
2.2

[Option ID = 20421]
3.3

[Option ID = 20422]
4. 4

[Option ID = 20423]

69) Match List | with List Il :

List | List Il

Authors Books
(A) Carl Von Clausewitz ) Strategy
(B) Sun Tzu ()  On war

(C) B.H. Liddel Hart () The art of war



(D) Thucydides (IV) Pelopponesian war

Choose the correct answer from the options given below:

(A)-(, (B) - (I, (€) - (D, (D) -

(1) (V)
) (A)-@am, (B - @, (€) - (), (D) -
v
(A) - (), B) - (), (€ - @, (D) -
(3) ()
4)  (A)-@v), (B) - (), (€) - ), (D) - O
gl 1% |1y g 11 &1 fier sifa .
g 1 gl IT
(A) T g1 FATHTA @ T
®) H19 D 3 an
(C) . v=. foea B (IIT) & 39T¢ 3% an
(D) qHisEH @V) et an

= feu o feeeredi | |2 39 &1 =94 Fifsu .

1 @-a. @& -Jdn. © -@O. @O - av
2 @-dn. B -dn © - @O, @O - adv)
@ @-0. @G’ -d. (© - dn, @O - dav
4 @-awv. ® -dn © -a. @O - d

[Question ID = 5244][Question Description = Q69_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 20424]
2.2

[Option ID = 20425]
3.3

[Option ID = 20426]
4. 4

[Option ID = 20427]

70) Match List | with List Il :

List | List Il
Out break of Diseases Countries of origin
(A) H7N9 ()  Mexico
(B) Ebola () Brazil
(C) Zika () West Africa
(D) Swine flu (IV) China

Choose the correct answer from the options given below:

(A) - (), ®) - @, (© - @y, (@ -
(v)

2 (A)-(v), (B) - (), (€) - @, (d) - (D
(A)-, (B) - @v), () - O, (D) -

(M

@) (I
(4) :I/’I«))-(“l), (B) - (), () - (v), (D) -

gl I w19 g 11 %1 faerm difs .



Tl 1 g 11

T IHR IgH g
A wETEEY @  HfFa
B) e (1) srfia
(C) gahi (IIT) wfgadi sihT
(D) ¥ W Iv) =

4 feu o fawareg 9 wd 39 &1 999 Fifao .

1 @A@-@O. @ -dn. (C) - dm, (D) — daV)
@ @-awv., B -d1n ©-dam @M - @
(3 @-dM. @B -aa). © - @O. @ - I
4 @W-On ® -0 (©-adav. O - d@
[Question ID = 5245][Question Description = Q70_IRAS_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 20428]
2.2

[Option ID = 20429]
3.3

[Option ID = 20430]
4. 4

[Option ID = 20431]

71) Match List | with List Il :

List | List Il

War/Crisis Year of Crisis/War
(A) Gulf War l U} 1999
(B) Kosovo crisis an 1991
(C) America’s “War on Terrorism” i 1979

(D) Soviet Intervention in

V) 2001
Afghanistan V)

Choose the correct answer from the options given below:

(A) - (), ®) -, (© - @y, (@ -

(M (Iv)
) :ﬁ«l))-("), (B) - M), € - (v), (D) -

3 (A)-(V), (B) - (), (€) -, (D) - (D

(A)- (), (B) - (IvV), (€) - (D, (D) -

@

ol T w12 g 11 %1 e Sifau .

T I H1 I
qa | HHe b2 [4g &1 a4
(A @rél 43-1 (D 1999
(B) A HHe I 1991
(C) smfrht aft wiA Ty’ (II) 1979
(D) srEmiaEaE 4 Hifaga ey (IV) 2001

9 feu o fasreredi @ w&l I &1 == Hifa



(e A= b =), ) = (). (W) = (V)
2 @-d. B -0 ©-av. O - dd)
@ @A-adv). @B - dn. © -dpn @O - D

4 @A-dn. @® -av. © -@O. @O - dp

[Question ID = 5246][Question Description = Q71_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20432]
2.2

[Option ID = 20433]
3.3

[Option ID = 20434]
4. 4

[Option ID = 20435]

72) Match List | with List Il :
List | List Il
Bodies with Global focus Headquarters

(A) International Atomic Energy

Agency U] Paris, France
(B) International Court of Justice () Jeddah, Saudi Arabia

(C) Organisation for Economic

) TheH , the Netherland
Cooperation and Development (fiy € hague, the Netherlands

(D) Organisation of the Islamic

IV) Vienna, Austria
Conference )

Choose the correct answer from the options given below:

(A) - (), (B) - (v), (€) - @y, (D) -

) (I
@) :I/’I«))-(W), (B) - (I, (€) - (), (D) -

3)  (A)-(v), (B) - (Y, (€) - @, (D) - (@D
4 (A-aD, (B - @, (€) - @av), (D) - (D

gl 1% 919 g4 11 1 faae Fifa

il H1 11
(A) RG] FHe @O i, wE
(B) si=iidia = @) @, 53 3HE
(C) il wzdm vd foer & e (IIT) &1, Higteivs
(D) el Hefer #dq e @) ferzan, sifezn
= fou e foeperedi @ el 3 1 WA Hifw

1 @W->O. @ - dv). (©) - d). (@D - {dIm
2 @-av, B -dn © -O. @O —-3d
(3 @-av). B -d. (© -dn, O - @
4 @-d. @ - dh. © - av). @O - d

[Question ID = 5247][Question Description = Q72_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20436]
2.2



[Option ID = 20437]
3.3

[Option ID = 20438]
4. 4

[Option ID = 20439]

73) Match List | with List lI:
List |
Author

(A) M. Mandel Baum

(B) J.Mearsheimer

(C) T.Friedman

(D) Fareed Zakaria

List Il
Books

) The tragedy of great power
politics

(I) The ideas that conquered the
world

(lll) From Wealth to power
(IV) The World is flat

Choose the correct answer from the options given below:

Dy

(2) (Iv)

(A)-(, (B) - ), © - @av), (D) -

(A) - (), ®) -, (© - @, (@ -

3)  (A)-am, (B) - (IV), (€) -, (D®) - (D
4 (A-aD, (®) - @, (€) - @av), (D) - (D

gl 1% #19 g491 11 %1 faae Fifa

i 1
Steca
(A) R, ey
(B) H. faspdfm
(C) &. wrastq
(D) irg AHT

g 1T

A
D §¢FE A% U2 qre gifafean
D) < 3sfem 42 Fi-s g dcs
(IIT) %19 9o g dr&n
(IV) 2 w8 3 Hofe

{4 few mu faseredi 9 98 3 &1 =9 Hifao .

1 @-d. @ - dD.

2 @->O B - d.
(3 A-dDp. B - av).
4 A-d). (B — (ID.

(€) — av). (D) — 1D
(€) — I, @D) — dV)
€ - ah. @ - @
© - av. M - @

[Question ID = 5248][Question Description = Q73_IRAS_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 20440]
2.2

[Option ID = 20441]
3.3

[Option ID = 20442]
4. 4

[Option ID = 20443]

74) Match List | with List Il :
List |
UN Secretary Generals

(A) Boutros Boutros Ghali

List Il
Country/Nationality

) South Korea



(B) Kofi Annan (1)  Myanmar
(C) Ban-ki Moon (1 Egypt
(D) U thant (IV) Ghana

Choose the correct answer from the options given below:

) (A)- (), ®) -, (© - @, (@ -
(v)
2 (A)-(v), (B) - (m, (€) - @, (D) - (@D

3) (A)-a, (B) - V), (©) - O, (D) -

(1
(4) :ﬁ))-(lll), (B) - (IV), () - (), (D) -
el 1% |19 = 11 &1 faem Sifae
g1 1 g1 11
3w Herfae T
(A) HH g =refl (I)  H3Y i
(B) I A (II) =
(C) @F f& 54 (IIT) faz
D) 3 e (IV) =M

4 feu o fasereai O odl 39 1 =29 Hifsuo .

1 @W-0O ®-d. (© -dJdn @O - av
2 @-av. ® - dn © -am. @O - d

3 @-a. ® -av. © -oO. (@ — dm
49 @-dnp @ -av. ©-o. @O - I

[Question ID = 5249][Question Description = Q74_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 20444]
2.2

[Option ID = 20445]
3.3

[Option ID = 20446]
4. 4

[Option ID = 20447]

75) Match List | with List Il :

List | List Il
Leaders Countries
(A) Mohammad bin Salman ) Syria
(B) Bashar al Assad (i) Israel
(C) Benjamin Netanyahu (i) Egypt
(D) Mohammed Morsi (IV) Saudi Arabia

Choose the correct answer from the options given below:

A)-@v), @ -@m, (©) -, (@ -

) (I

@) (A) - (), (B) - (n, (€ - (m, (D) -
v

3) (A)-(m, (B) - (Iv), (€) - (), (D) -

(m



(4) (A)-an, @) -0, © - (av), (D) -

(1
el T % | 5=l 11 a1 fuers Sifau

Tl 1 T 11
(A) g fod Hemm (D Hifen
(B) 9N e 3HG (D) e
(C) =i Ha=ame (II1) T
(D) HIEEHE i (IV) H%dl 37d

4= feu v fawer=T | 9 39 %1 999 Fifau .

(1) A)-av), B -@OM (© —dan, (D) - dm
@ @-O @G-0d (© -Jdn, @O - av)
3 @A-dp @ -av). © -@O. (@O - d)
4 @-da. @® -0O. (© —-av). @O — {1
[Question ID = 5250][Question Description = Q75_IRAS_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 20448]
2.2

[Option ID = 20449]
3.3

[Option ID = 20450]
4. 4

[Option ID = 20451]

76) Arrange international cooperation agreements on global climate change progress in ascending order of their happening
(A) United Nations Frame-work Convention on climate change

(B) Montreal protocol

(C) Paris Agreement

(D) Vienna Convention

(E) Kyoto protocol

Choose the correct answer from the options given below:

(1) (D), (B), (A), (E), (C) (2) (E), (D), (C), (B), (A)
(3) (A), (C), (D), (E), (B) (4) (A), (E), (B), (D), (C)

fefefiga saida Serarg Tiada Hedm gaeiia &1 39 9fed 81 % SN9R W SAEIE %9 0 syaied $6

(A)  FATEEE FoM FHad A FeAsHe 9
(B)  wifiae Wi

(€) Ui wie

Dy fagn FE9H

(E) i1l Wrerehic

19 feu o fasedi § 9 w8l I @ = Fifau

(D D). (B). A). (E). (C)
2 (E). (D). (C). (B). (A)
3 (A, (©). (D). (E). (B)
4 (A (E). (B). D). (C)



[Question ID = 5251][Question Description = Q76_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20452]
2. 2 [Option ID = 20453]
3. 3 [Option ID = 20454]
4. 4 [Option ID = 20455]

77) Arrange United Nations Peace Keeping operations, in ascending order of the five year of participation
(A) United Nations stabilization in Haiti

(B) United Nations Hybrid operation in Darfur

(C) United Nations Mission in Liberia

(D) United Nations multidimensional integrated stabilization mission in the Central African Republic

(E) United Nations Mission in the Republic of South Sudan

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E) (2) (E), (D), (C), (B), (A)
(3) (©), (B), (A), (D), (E) (4) (C), (A), (B), (E), (D)

T WY ST ATFHT F1 IFh HRWIfHTe 99 6 FYW T HWE %0 H e +
(&) =g g F A 0 Rdw

(B®) R Ha Ty e s

(C)  wrgafen § wgw g fae

(D) Hoge ke foafers 4 53w T2 & ggsam vdhiEa e fism

(E)  Hg Y %1 {139 HH Mo § firve

I few o fawedi § | 58 3 @1 =54 Fifqu .

(I (@A) ([B). (C). (D). (E)
@ (E). (D). (). (B). (A)
3 (O (B). (A). (D). (E)
4 (©). (A). (B). (E). (D)

[Question ID = 5252][Question Description = Q77_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20456]
2. 2 [Option ID = 20457]
3. 3 [Option ID = 20458]
4. 4 [Option ID = 20459]

78) Arrange the North Caucasus crisis/war in ascending order of their happening
(A) War in Dagestan

(B) First Chechen war

(C) War in Ingushetia

(D) Insurgency in Chechnya

(E) Second Chechen War

Choose the correct answer from the options given below:

(1) (E), (D), (C), (B), (A) (2) (A), (C), (E), (B), (D)
(3) (B), (A), (E), (D), (C) (4) (A), (B), (E), (C), (D)
Il HHEE T/ g F b B b AE wy O syafeya Fifs
(A) TR g
(B) TEA = 43
(€)  spEifasn | 3¢
D) = H e

(E) fgdra w=m 95
= feu mu fawmedt O 4 |8 I @1 =29 Fifau .

(1 (E). D). (©). B). (A)
2 @A). (0. (E). (B). (D)



(3 (B). (A). (E). (D). (C)
@ (A (B). (E). (). (D)

[Question ID = 5253][Question Description = Q78_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20460]
2. 2 [Option ID = 20461]
3. 3 [Option ID = 20462]
4. 4 [Option ID = 20463]

79) Arrange the following in ascending order as per the year of happening in South Caucasus
(A) Georgian Civil War

(B) First Nagorno Karabakh War

(C) Adjara Crisis

(D) Russo-Georgian War

(E) War in Abkhazia

Choose the correct answer from the options given below:

(1) (B), (A), (D), (C), (E) (2) (B), (A), (E), (C), (D)
(3) (E), (A), (B), (C), (D) (4) (A), (C), (E), (D), (B)

Tetferfan i Fae 0 5 Jiell 912 ® 39 =F 9 99 F FAER ATE 59 § Haid #ie
(A) i TR - T3

(B) TR FTET FETE 45

(C) U=Hm 592

(D)  =HI-wPE Tg

(E) @it 8 35

= 7w Tu feereT | O wE I =EE Hie

(1) (B). (A4). (D). (C). (E)
(2) (B). (A). (E). (C). (D)
(3) (E). (A). (B). (C). (D)
(4) (A). (C). (E). (D). (B)

[Question ID = 5254][Question Description = Q79_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20464]
2. 2 [Option ID = 20465]
3. 3 [Option ID = 20466]
4. 4 [Option ID = 20467]

80) Arrange in ascending chronological order of America's involvement in various crises of their happening
(A) US participation in Iraq war/ Gulf War |

(B) US participation in Korean War

(C) US intervention in Guatemala

(D) US involvement in Vietham War

(E) US attack on Afghanistan

Choose the correct answer from the options given below:

(1) (A), (C), (D), (E), (B) (2) (B), (C), (D), (A), (E)
(3) (B), (D), (E), (C), (A) (4) (E), (D), (C), (B), (A)

fafira vl § srifrer 1 deral 1 AEE wierwy O safm &
(&) U Ag [ @l 43 14 ster 6 vrfied

(B) I Ig © I7HH I qriigrl

(C)  Tarewren ° wfieR 1 gEas

(D)  fouaam g5 ° s 6 Herm

(E)  HABNRAH 9 3 1 29e



H fou o fawedi 1 | |58 3w #1 =9 Fif

(1) @) (©). (D). (E). (B)
@2  B. (). D). &). E)
3)  (B). D). (E). (C). (A)
(4 (E). (D). (C). (B). (A)

[Question ID = 5255][Question Description = Q80_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20468]

2. 2 [Option ID = 20469]

3. 3 [Option ID = 20470]

4. 4 [Option ID = 20471]

81) Arrange the following in ascending chronological order of their year of happening.
(A) Anti-Ballistic Missile Treaty between US and Soviet Union

(B) US detonates the World’s First Nuclear Weapon

(©) President Eisenhower introduced his ‘Atoms for Peace’ proposal to United Nations General Assembly
(D) United States announces its National Missile Defense (NMD) Act

Choose the correct answer from the options given below:

M (B), (C), (A), (D)

() (B), (A), (C), (D)

3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

freferfaa =1 7% afzd o9 % a4 & YR W AWE FAHATEE Gq Fiia)

(A)  HI. SHTH AR GiEEd 59 F S SEEid -t [HEEe 2el
(B) =7 ¥R g fava % usd wEnvEEm w5 e wn
(C)  smfehl Tezafa SE=ATEs 57 O T2 T 0 weem i O o weE 9 R

(D) =1, T g e s 5 uee i Fon

Hi fou o Tt | 9 Od s =Ee fie

(1) (B). (C). (A). (D
(2) (B). (A). (C). (I
(3) (A). (B). (C). (D)
(4) (D). (C), (A). (B)

[Question ID = 5256][Question Description = Q81_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20472]
2.2

[Option ID = 20473]
3.3

[Option ID = 20474]
4. 4

[Option ID = 20475]

82) Arrange the following diplomatic efforts beween India and Pakistan by the year of occurrence in ascending
chronological order

(A) Agra summit

(B) Shimla agreement

(C) Lahore bus diplomacy

(D) Kartarpur corridor



Choose the correct answer from the options given below:
(1) (A), (B), (C), (D) (2) (D), (C), (B), (A)
(3) (B), (A), (D), (C) (4) (B), (C), (D), (A)

(A)  HFE T A
(B)  Temen oo
(C)  ©EN =® Fedia

(D) T FER

e 5w U faeat o O wE I o =E HIA

(1) (A). (B). (C). (D)
(2) (D). (C), (B). (A)
(3) (B). (A). (D). (C)
(4) (B). (C). (D). (A)

[Question ID = 5257][Question Description = Q82_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20476]
2. 2 [Option ID = 20477]
3. 3 [Option ID = 20478]
4. 4 [Option ID = 20479]

83) Arrange the following terrorist attacks in Indian cities by the year of occurrence in ascending chronological order:
(A) Pathankot

(B) Uri

(C) Pulwama

(D) Mumbai

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D) (2) (D), (A), (B), (C)

(3) (B), (C), (D), (A) (4) (C), (D), (A), (B)

wreta sl § g0 frafafas sraward) enel #l 9o & dgd 20 FIeHaET safead #i

=

(A)  Y3IHHR
® 3

(© e
D) H=E

I fev o fawedi O 4 9 3 &1 999 Fifao .

1) @. 3. (0. D)
2 (D). A).®B).(©C)
(3) (B).(©). D).’
@ (©).[D).A).(B)

[Question ID = 5258][Question Description = Q83_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20480]
2. 2 [Option ID = 20481]
3. 3 [Option ID = 20482]
4. 4 [Option ID = 20483]

84) Arrange the Presidentship of the following Soviet leaders in asceding chronological order:
(A) Joseph Stalin

(B) Leonid Breznev

(C) Mikhail Gorbachev

(D) Vladimir Lenin

Choose the correct answer from the options given below:



(1) (A), (B), (C), (D) (2) (D), (A), (B), (C)
(3) (D), (C), (B), (A) (4) (C), (D), (A), (B)

freferfiga wifama s £ deasa & 9gd g HEFTHan syafee ®i

(&)
(B)
©)
(D)

T w2
serfefin eifA

I fev o fawedi 0 9 gd 3 @1 999 $ifao .

(1)
(2)
(3)
(4)

(4), (B). (O). D)
D). (A). B). (C)
(D). (C). (B). (&)
(C). D). (A). (B)

[Question ID = 5259][Question Description = Q84_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20484]
2. 2 [Option ID = 20485]
3. 3 [Option ID = 20486]
4. 4 [Option ID = 20487]

85) Arrange the following strategic cooperation agreements by the year of signing in ascending chronological order
(A) India-Afghanistan

(B) India-Mongolia

(C) India-Kazakhstan

(D) India-Tajikistan

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D) (2) (C), (A), (D), (B)

(3) (B), (C), (D), (A) (4) (D), (C), (B), (A)

ferafeafiga worfifas weam augidl i 39 amen fru I8 & 9 & wresn & SEn srafim +5i

&)
®)
(C)

D)

UHA — 3PEEHE
qEd - gt
A - AR

WA — ATfAfeRH

il feu u faswedi 4 4 | IW F FE i

(1)
)
3
€Y

(A). (B). (C). (D)
(©). (A). (D). B)
B). (C). (D). (A)
D). (C). (B). (A)

[Question ID = 5260][Question Description = Q85_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20488]
2. 2 [Option ID = 20489]
3. 3 [Option ID = 20490]
4. 4 [Option ID = 20491]

86) Given below are two statements:
Statement I: The Cold war had a massive impact on American society and culture
Statement Il: Thousands of innocent Americans suffered, several lost their jobs and several people were imprisoned due to

cold war

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect



(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct
EIERARCTER AR AT
I sfidgg & IR qare 3 sl W oasd Ten wvE v
FUAIl:  Hfidgg & Fwv gunl e smfderd @ eEE 2, wE dri w5 e fae i e
ATl w1 e | " 6 fen mm

I YA < HATetrh H, Fl fou 7o faswedi § A gay 3w I w0 =0 Hif)

(1) %A I 30 sy I €A1 |8 8
(2)  FUF I 3R FUE 1L EET e 2
3  #uE [ Hd 2, dfd U I e 2

(4)  FU 177 2, i S 1 98 2

[Question ID = 5261][Question Description = Q86_IRAS_SHAAN_20NOV21_S1_Shift2]
. 1 [Option ID = 20492]
2 [Option ID = 20493]
3 [Option ID = 20494]
4 [Option ID = 20495]

A W N -

87) Given below are two statements:

Statement I: Economic nationalism has become a new trend during Covid-19 pandemic

Statement Il: Most countries have now started insisting on products being made locally, to provide employment
opportunities to locals.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true (2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false (4) Statement | is false but Statement Il is true

= = T fu m E

FoA 1 Fiis-19 HeTHHEl % SRA AlE® TgET TF 9 9= s T
Fo 11 T A F TAE 24 & T ATawa 29 w7E T 3eE W A T 2

ITE HA F AT H, A= G U EEea | 9 T8 3T =8 Hii)

(1) =29 1 3% %9 I 26 o991 2

(2) oA I 31 F9A 11 oA 79 &

(3) w1 EH 2, W FyF I e 2

(4  Fu3 I Ted 2, wirF w10 =8 7
[Question ID = 5262][Question Description = Q87_IRAS_SHAAN_20NOV21_S1_Shift2]
. 1 [Option ID = 20496]

2 [Option ID = 20497]

3 [Option ID = 20498]
4 [Option ID = 20499]

A W N -

88) Given below are two statements:

Statement I: Mercantilism is an economic doctrine based on a belief that military power and economic influence
complemented each other

Statement Il: Mercantilism is applied to colonial empires in the 16th through 18th centuries

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct

4= g wed fou e #



FE 1 :  arfrsadre v e faem 2 S 5 favarg @ s 2 T A= oifss s snfeles e v
THL % T 2
FeH IL:  arlrsEre &1 394 sfafers gmr=a 1681 8 o 1 8= samed] aeh faa)

IR HYA & e 8, F9 fou u fased § | qe Iuge I @ 9 Fifu)

(1) %A I 3 I 2Hi |41 2
(2) YA I 30 I gHi e 2
(3)  ®Ud [ gd 2, «ifFd Fed I e 2

(4) & I ed 2, dife Fea I 92 2)

[Question ID = 5263][Question Description = Q88_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20500]
2. 2 [Option ID = 20501]
3. 3 [Option ID = 20502]
4. 4 [Option ID = 20503]

89) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There have been significant cases of conflicts that have come to an end through peace agreements

Reason R: More often, conflicts fizzle out, dropping below the thresholds that researchers used to classify them as armed
conflicts

In the light of the above statements, choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A (2) Both A and R are true but R is NOT the correct
explanation of A

(3) Ais true but R is false (4) A is false but R is true

i @ %¥A fqu T )| us HWHUA (Assertion A) & ®9 4 fifigd 2 a1 gHU IHF %A (Reason R) &
LR

Afeped A ;v fH-=4 ae & 2 e fedl e 1 o onfa smeal 8 2s0 2
FEUR: U, UH Eud "Ed d1g @ 2 S 39 € a% vgd #@ T srgEaeesdl qee qed wzd 2

mam%mﬁ,ﬁmmﬁmﬁﬁ@mwwﬁml

(1) A 3R EH g 8 31 R, A I 91 sam= 2|
(2) A 3R RTH g 8, dfdd R, A il 981 samed T6 2
(3) A HH 2 R 39 2l

(4) A 35 2, ¥4 R 99 £

[Question ID = 5264][Question Description = Q89_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20504]
2. 2 [Option ID = 20505]
3. 3 [Option ID = 20506]
4. 4 [Option ID = 20507]

90) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A: During the cold war period, thirteen peacekeeping operations were establised, mostly deployed in interstate
conflicts.

Reason R: Their main function was to monitor borders and establish buffer zones after the agreement of cease-fires
In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A (2) Both A and R are correct but R is NOT the correct
explanation of A

(3) Ais correct but R is not correct (4) A is not correct but R is correct

= g1 #ud feu o #) us 3fuseH (Assertion A) & ¥4 o feifigd 2 d1 g1 3% *EW (Reason R) %
QY -



HAfaheH A - Sfiaga % SRA dig wfan sifvam Feme T e | sfyea sa-ufeas Jad 1 2
FAUR: 3 gEg &1 G o e e s e -fam & e aw-dm wenfia e o

I 2 % Aol o, 4 fou e faewedi O | Hew 39 I &1 =954 it

(1) A 3R gH |8l 2 30 R, A $l T8 =G 2]

(2) A 3R R gH ¥d 2, aifd R, A 4 |8l sawen 98 2)
(3)  Amd Rl R #A A 2

@  AHAFE 2, A R 5 2

[Question ID = 5265][Question Description = Q90_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20508]
2. 2 [Option ID = 20509]
3. 3 [Option ID = 20510]
4. 4 [Option ID = 20511]

Topic:- 90Politics_B

1) Read the following passage and answer the question given below:

Both China and the US has realized the growing importance of the Indo-Pacific region in the 21st century. President Xi
Jinping's Belt and Road initiative (BRI)- that included both land and maritime linkages-was essentially intended to gain
greater dominance over Eurasia in general and the Indo-Pacific in particular. In a hard-hitting speech against the West,
delivered in Feburary 2013 and released to the public six years later, Xi Jinping came down heavily against what he
perceived as America's ‘containment policy' against China in the region. The BRI was conceived as an antidote to America's
intended re-domination of the region.

Source: India Foundation Journal, January-February 2021, P-7.

Freferfaa mrertor @it afgn i S fau o woei & s difan : (91-95)

A 3 H@geE e sfe i3 2141 9§ yRa-wia &9 % 9ed 2 eed @) vegE e 21 dee vz i
sfafomfea (ft s amg) T ufy 3 amgize d@ud onfve @, 1 g@ 3298 Am=E g1 & 3w s faum
¥ Y YHA-TUE &3 4 9Yed HEY w1 o1 wad, 2013 ° afvadl <o % fawg fou mo sgdnl v S @ ad
qre Fa | gErid fomn oo, f-faafdn 4 39 2 0 dF % foeg w-sadiiya st 6 sranas-Aifa 6
il swedn 1) At 3w 3 ) i g gafiE g H g e e I de @ fa-fag g g e
=1 T

Hid : gfe wrEeyA FHa, FHal-wEd, 2021 98-7

When did Xi Jinping give a hard-hitting speech against the West criticising America's containment policy against China?
(1) January 2013 (2) February 2013

(3) September 2014 (4) December 2014

for-foafin 3 < & fawg suifem 61 srigs Hifa 6 steire w6 ge ofFd g9 % fasg wzami
] e foan =y

(1)  w=afl, 2013 (2) wEdl, 2013
(3)  foasn, 2014 (4) femem, 2014

[Question ID = 5266][Question Description = Q91_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20512]
2. 2 [Option ID = 20513]
3. 3 [Option ID = 20514]
4. 4 [Option ID = 20515]

2) Read the following passage and answer the question given below:

Both China and the US has realized the growing importance of the Indo-Pacific region in the 21st century. President Xi
Jinping's Belt and Road initiative (BRI)- that included both land and maritime linkages-was essentially intended to gain
greater dominance over Eurasia in general and the Indo-Pacific in particular. In a hard-hitting speech against the West,
delivered in Feburary 2013 and released to the public six years later, Xi Jinping came down heavily against what he



perceived as America's ‘containment policy' against China in the region. The BRI was conceived as an antidote to America's
intended re-domination of the region.
Source: India Foundation Journal, January-February 2021, P-7.

Freferfiam e @t ufzo siw et fau o ove & T A : (91-95)

i 3w T i 9E1 A 2141 ) § wEd-ueia &9 & ded g HEe &l gy fem 2) awe ug 1
gfaforfea (dft sm snd) fomil yfy st amfze dud wiva o, @ gea s2vg qmrgd i F 3w s
¥ Y WRA-YIE &2 U HEW w5 o) wad, 2013 4 qfdad gui % faeg fou mo szargl wmo S @ o
qle S 1 wEnid fmm wan e, fo-fomfin 3 29 gm0 9 % g w-saEiya st 6 Csanvs-Aifa 6
Wi WedT @11 ol AW 30 @l U gE Halad aE 0 [HuYe Y @l Uun @l gfd-fay u9me g g
1 T

Hid : gfea wEgye wHa, FHal-wEd, 2021 98-7

The importance of which of the following region in 21st century has been realised by both China and the USA?
(1) Eurasia (2) Inner Asia
(3) Indo-Pacific (4) Antarctica

21 i wdl 1 frferfaa 0 4 T e *1 wewa 1 3 O3 759 IWiER §H1 g HegE fem T 2 7

(1)  gfsrEn (2) 3= ufsEn
(3)  WHA-99IH (4) FaEhTeH

[Question ID = 5267][Question Description = Q92_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20516]
2. 2 [Option ID = 20517]
3. 3 [Option ID = 20518]
4. 4 [Option ID = 20519]

3) Read the following passage and answer the question given below:

Both China and the US has realized the growing importance of the Indo-Pacific region in the 21st century. President Xi
Jinping's Belt and Road initiative (BRI)- that included both land and maritime linkages-was essentially intended to gain
greater dominance over Eurasia in general and the Indo-Pacific in particular. In a hard-hitting speech against the West,
delivered in Feburary 2013 and released to the public six years later, Xi Jinping came down heavily against what he
perceived as America's ‘containment policy' against China in the region. The BRI was conceived as an antidote to America's
intended re-domination of the region.

Source: India Foundation Journal, January-February 2021, P-7.

Fre=ferfiga merw =i ufu sin = fro o goet & s difae : (91-95)

A 3 H@gE s sfe i3 2141 9§ yRa-wia &9 % 9ed 20 ueed &) vegd e 21 dee vz i
sfaforafea (1 s snd) fomd ufy 3 sz d@vdh wifua o, g stve g ffven % aw s fasm
¥ Y YHA-UIE & H U4 HEY S o1 Hadl, 2013 § qfvad o o faeg fou mu sgargl g S @ ad
d1g S ° warid fobn wn o, -faafin 3 56 am 0 <ih % fovg m-sEdiiya smien di sangs-ifa
W A1 @l | &l TR 318 & T g1 Hafad &9 § 499 EE i 61 99 @ 9id-fa9 99m@ g T
T T

Hid : $fea wEgyA FHa, FHal-wEd, 2021 98-7

Belt and Road initiative (BRI) includes which of the following
(A) Land Linkages

(B) Maritime Linkages

(C) Air Linkages

Choose the correct answer from the options given below:

(1) (A) only (2) (B) only

(3) (C) only (4) (A) and (B) only

dee wvg e gfbfea (i sm aE) H frefafiaa § 3 @ ofra 27
(A)  Y-HTH (cie forhd)

(B)  HHfzs Gk

© faaH-dod

= B Braeem O o oA =T 3 =g = .



(1)  #ae (A)
(2)  #dd (B)
(3)  &Had (C)

(4)  Had (A) 31 (B)

[Question ID = 5268][Question Description = Q93_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20520]
2. 2 [Option ID = 20521]
3. 3 [Option ID = 20522]
4. 4 [Option ID = 20523]

4) Read the following passage and answer the question given below:

Both China and the US has realized the growing importance of the Indo-Pacific region in the 21st century. President Xi
Jinping's Belt and Road initiative (BRI)- that included both land and maritime linkages-was essentially intended to gain
greater dominance over Eurasia in general and the Indo-Pacific in particular. In a hard-hitting speech against the West,
delivered in Feburary 2013 and released to the public six years later, Xi Jinping came down heavily against what he
perceived as America's ‘containment policy' against China in the region. The BRI was conceived as an antidote to America's
intended re-domination of the region.

Source: India Foundation Journal, January-February 2021, P-7.

et e =t afzu siv St fao o v & T i : (91-95)

A 3wy U sEfe i3 2141 #d § IRa-weia &9 % Wed 8 Herd &l Wegd e 21 dee U e
stfiefea (o am ad) Fomd yf i amfzs Gvh wiia o1, &1 ge 2y amre G & Iw iR fasy
w9 | WHA-ITd &7 0 99Yed H1E8 & 91 Fad, 2013 ° 9fvad oo & fowg fou o swgari w5 27 a9
qre a1 | vEria fern wn o, fo-foafdn 3 o0 &9 0 96 % favg @-sadiiaa i 6 sanus-Aifa 6
il wedan 11 A s 3d w1 i gEn Hefd &E H e w6 g w1 gf-fay wsme g9 e
T T

Hid : $feA wIEEE THa, Sl -wEd, 2021 98-7

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Belt and Road initiative was the brain child of Xi Jinping

Reason R: BRI intended to gain greater dominance over Eurasia

In the light of the above statements, choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A (2) Both A and R are true but R is NOT the correct
explanation of A

(3) Ais true but R is false (4) A is false but R is true

= 21w fou e 2| v 31U (Assertion A) & ¥ ¥ fdfigd 2 A1 g5 394 #MW (Reason R) %
Y H
Ao A : dee we Ig shbnfea -faafdn &1 g o

FEUR: Wl AW 30 ) 9 FEE S 9e wiad & Uil

YU YA & el 4, Fid fau o famedi 4 4 qdl 3w & a9 Hifw)

(1) A 3R ZH g 2 3 R, A 6l 91 samEm 2

(2) A 3N REH 9 &, difed R, A <l |81 samed T8 2
(3) A¥A 2l R 3HA 2|

(49 A 3HA R, ofF R 5 2

[Question ID = 5269][Question Description = Q94_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20524]
2. 2 [Option ID = 20525]
3. 3 [Option ID = 20526]
4. 4 [Option ID = 20527]



5) Read the following passage and answer the question given below:

Both China and the US has realized the growing importance of the Indo-Pacific region in the 21st century. President Xi
Jinping's Belt and Road initiative (BRI)- that included both land and maritime linkages-was essentially intended to gain
greater dominance over Eurasia in general and the Indo-Pacific in particular. In a hard-hitting speech against the West,
delivered in Feburary 2013 and released to the public six years later, Xi Jinping came down heavily against what he
perceived as America's ‘containment policy' against China in the region. The BRI was conceived as an antidote to America's
intended re-domination of the region.

Source: India Foundation Journal, January-February 2021, P-7.

Freaferfiaa merm =6 ufu i = foo o goai & s difse : (91-95)

o 3 HgeE s sEfe M1 3 2141 9§ yRa-wia &9 % 9ed 70 UEed @) egE e 21 dee vz T
sffarefea (i s snd) T 9fy s amfes d@vdh wfwe @1, %1 qen s2va amra e % 9w s e
Y H EA-ITa &3 4 9Yed w1y o) weedl, 2013 8 gfvedi g % faeg feu o sganpl o o @ ad
qrg S ° wanfE forn wan e, fo-foafin 3 5 dm A Hw % fovg w-smEifia smfen 6 Csatgs-Aifa 6
Wil wedan il SR g 6 SR grn wafed A 0 gRaye wEm i F g 0 gfa-fay 9vme g gerer
1 7T

Hid : gtz wEgyE FHe, FHal-wEd, 2021 98-7

Given below are two statements:

Statement I: BRI intended to gain greater dominance over Indo-Pacific

Statement Il: BRI was conceived as an antidote to America's intended re-domination in Indo-Pacific

In the light of the above statements, choose the correct answer from the options given below:

(1) Both the Statement | and Statement Il are true (2) Both the Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false (4) Statement | is false but Statement Il is true

= 21 o fou o #) v HfUEeH (Assertion A) & ¥4 U fdfigd 2 A1 g0 35+ FHW (Reason R) %
w9 H

HUTA ;| 3N TS I A HEA-YING &9 H A 9gre EE & o)

FANR: &l HE 73 H UG-G & H TR & 9ifod qA: 9ed F1 F=E 6 9 fay game 9w
S WHT T

IFIh FUH & IeE 1, 9 fev o fawmed 0 6 w8 I w1 =94 it

(1) YA I 300 I gHi 97 21
(2)  ®UE I 0 I SFl 3/ 2
(3)  ®A I Ed 2, offha %o I 3197 2|
(4) &Y I 5EF 2, dlfed #2911 |59 2|

[Question ID = 5270][Question Description = Q95_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20528]
2. 2 [Option ID = 20529]
3. 3 [Option ID = 20530]
4. 4 [Option ID = 20531]

Topic:- 90Politics_C

1) Read the following passage and answer the question given below:

When the Cold war ended in the late 1980s many analysts thought that NATO's days are numbered. With the Soviet Union
unable to maintain its control over Eastern Europe, the communist regimes in that region fell, and the Warsaw pact
dissolved. When the Soviet Union disintegrated in December 1991, it seemed plausible that the NATO alliance would
crumble as well NATO's obituaries turned out to be premature. The United States did reduce its troop presence in Europe,
but 62,000 US military personnel remain stationed there today. Rather than withering away, NATO expanded eastward,
adding 13 states that had been allies or republics of the former Soviet Union. The alliance expanded its mission. In the
1990s, NATO intervened with air strikes in the wars that accompanied the breakup of Yugoslavia-not because a NATO
member had been attaked, but to address the humanitarian crises those wars created. Its reach extended further after the
September 11, 2001, terrorist attacks on the United States, when the alliance invoked Article 5 of the North Atlantic
Treaty declaring that the entire alliance had been attacked. NATO subsequently played an important role in efforts to
stabilize Afghanistan after the US invasion in 2011. In March 2011, NATO initiated a military campaign against Libya in a



response to that regime’s violent crack down against domestic opponents.

feferfem e =t afze oin = fao T vt & i (96-100)

o 1980 % <@ 4 3fia gg #uTH g3 1 95d H favelvenl 3 A= {6 @@ % f wu 2 @b difaa da g
i L fgE v 1 e AE W, g A qrEard] s5Een &1 Odd 23 S e |y wqem #@ o o 5
Hifead wa 1 famved fogar 1991 4 gan @ en {6 A1) Wi warg 21 o) we 918§ d6y 0 98 9 qug o
vgel Hal T e e 4 3 dfel ) e @ w6 fom e andi ot 3o 0 3Es 62,000 dfe d4rE A
HUTH EH @ g9 el # faar qd 1 #2394 13 o @) wifea & famn S aHe "egrf 8 @ gl
Hifega 54 & <91 U| 30 WA A A9 AR F F@rE| 1990 F guE ° AR 4 g4 Bl g e fE
Torgeh 19 IRATi 1 fravea 23011 27 #aen sefoe J8 fRn T fR a7 ARl %1 5o o wfed g8 | I
HHdTg-AEEl 1 g e fere) guhl wEe 3l "g el we 11 fader, 2001 1 HYT S W HIARATE] BT B
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HIT 7 & ABTHEAH H 3rsEan # 3eva feafq #i fRr e O geegl give fard)
feferan gro arH =ie] Fgt & gua & Sfare § el 3 ar" 2011 § 35 faug afas sifim @ smy T

Read the following statements:

(A) Article 5 of the North Atlantic Treaty was invoked after the September 11, 2001 terrorist attack

(B) In order to stabilize Afghanistan after US invasion in 2001, NATO played an important role

(C) NATO, in March 2011, did not initiate military Campaign against Libya

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (C) only (4) (C) Only

(A) faFe 11. 2001 + AGATE 70 F @12 A9 FZANLF 214 Aq=S b F A0 A T

(B) TEF T2 F 2001 T 7O F WE AENRAHE H TOE AH T 20 5 Teeaqel g w1 HaE

(C) 2011 4 =21 A Tetfemn = famg At aAfmm i vz 7281 #1)

= 30 U faehedi 9 ® @E 3 1 =EE I

(1) = (A) 31 (B)
(2)  Faa (B) 3(0)
(3) = (A) 3 (C)

4  Fad (C)

[Question ID = 5271][Question Description = Q96_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 20532]
2.2

[Option ID = 20533]
3.3

[Option ID = 20534]
4. 4

[Option ID = 20535]

2) Read the following passage and answer the question given below:
When the Cold war ended in the late 1980s many analysts thought that NATO's days are numbered. With the Soviet Union
unable to maintain its control over Eastern Europe, the communist regimes in that region fell, and the Warsaw pact



dissolved. When the Soviet Union disintingrated in December 1991, it seemed plausible that the NATO alliance would
crumble as well NATO's obituaries turned out to be premature. The United States did reduce its troop presence in Euro, but
62,000 US military personnal remain stationed there today. Rather than withering away, NATO expanded eastward, adding
13 states that had been allies or republics of the former Soviet Union. The alliance expanded its mission. In the 1990s,
NATO intervened with air strikes in the wars that accompanied the breakup of Yugoslavia-not because a NATO member had
been attaked, but to address the humanitarian crises those wars created. Its reach extended further after the September
11, 2001, terrorist attacks on the United States, when the alliance invoked Article 5 of the North Atlantic Treaty declaring
that the entire alliance had been attacked. NATO subsequently played an important role in efforts to stabilize Afghanistan
after the US invasion in 2011. In March 2011, NATO initiated a military campaign against Libya in a response to that regime's
violent crack down against domestic opponents.

Freferfaa e #t afee o = T T a3 I St : (96-100)

o 1980 # queh H 3id gg wHH g3 A1 wgd d faverasni 4 @ren b Al & for wm 2 i wfagd wa gl
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HIT 117 & ABTHEAH ° 3sEan # 3evd feafq #i fRr s O geegl g fared)

fefaran g arH =ie] Fet & gaa & ard § A9rE 3 91" 2011 § 366 faug a@fas sifim @ smy )

How many states added in NATO’s eastward expansion after 1991?
(1) 5 states (2) 13 states
(3) 10 states (4) 11 states

A2 & gd fepam g 1991 & &g fped gw 927

() b5em (2) 132
(3) 102w (4 11em

[Question ID = 5272][Question Description = Q97_IRAS_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 20536]
2.2

[Option ID = 20537]
3.3

[Option ID = 20538]
4. 4

[Option ID = 20539]

3) Read the following passage and answer the question given below:

When the Cold war ended in the late 1980s many analysts thought that NATO's days are numbered. With the Soviet Union
unable to maintain its control over Eastern Europe, the communist regimes in that region fell, and the Warsaw pact
dissolved. When the Soviet Union disintingrated in December 1991, it seemed plausible that the NATO alliance would
crumble as well NATO's obituaries turned out to be premature. The United States did reduce its troop presence in Euro, but
62,000 US military personnal remain stationed there today. Rather than withering away, NATO expanded eastward, adding
13 states that had been allies or republics of the former Soviet Union. The alliance expanded its mission. In the 1990s,
NATO intervened with air strikes in the wars that accompanied the breakup of Yugoslavia-not because a NATO member had
been attaked, but to address the humanitarian crises those wars created. Its reach extended further after the September
11, 2001, terrorist attacks on the United States, when the alliance invoked Article 5 of the North Atlantic Treaty declaring



that the entire alliance had been attacked. NATO subsequently played an important role in efforts to stabilize Afghanistan
after the US invasion in 2011. In March 2011, NATO initiated a military campaign against Libya in a response to that regime's
violent crack down against domestic opponents.

Frreferfiaa ey =1 afgu 37w et fen mo avei & 39w it : (96-100)
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Given below are two statements:

Statement I: NATO intervened with air strikes in the war that accompanied the break up of Yugoslavia
Statement lI: NATO intervened to address the humanitarian crises those wars created.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both the Statement | and Statement Il are true (2) Both the Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false (4) Statement | is false but Statement Il is true

4= @ %A feu mu 2

FeHI A A F4E BHAl g g H e R 39 39 i @1 fravea g3
AV IL: 4 Y51 gH A ueTg F1Ed) & famo gq e geaa S 2l

IYIE HYF & el 0, S 2o e fawen 0 9 |98 I &1 =994 it

(1) %A I 30 I eFi o7 21
(2) YA I 30 I eFl 3| 2
(3)  ®UA [ 8™ 2, oifhd %ud I 3759 2|
(4) &Y I 39F 2, eifsT +9 11 85 21

[Question ID = 5273][Question Description = Q98_IRAS_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 20540]
2. 2 [Option ID = 20541]
3. 3 [Option ID = 20542]
4. 4 [Option ID = 20543]

4) Read the following passage and answer the question given below:

When the Cold war ended in the late 1980s many analysts thought that NATO's days are numbered. With the Soviet Union
unable to maintain its control over Eastern Europe, the communist regimes in that region fell, and the Warsaw pact
dissolved. When the Soviet Union disintingrated in December 1991, it seemed plausible that the NATO alliance would
crumble as well NATO's obituaries turned out to be premature. The United States did reduce its troop presence in Euro, but
62,000 US military personnal remain stationed there today. Rather than withering away, NATO expanded eastward, adding
13 states that had been allies or republics of the former Soviet Union. The alliance expanded its mission. In the 1990s,
NATO intervened with air strikes in the wars that accompanied the breakup of Yugoslavia-not because a NATO member had
been attaked, but to address the humanitarian crises those wars created. Its reach extended further after the September
11, 2001, terrorist attacks on the United States, when the alliance invoked Article 5 of the North Atlantic Treaty declaring
that the entire alliance had been attacked. NATO subsequently played an important role in efforts to stabilize Afghanistan
after the US invasion in 2011. In March 2011, NATO initiated a military campaign against Libya in a response to that regime's
violent crack down against domestic opponents.

freferfiaa e @6t afze win = fao mo vl & T i (96-100)
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In 1990s, NATO intervened with air strikes against which country that subsequently disintegrated
(1) Afghanistan (2) Libya
(3) Yogoslavia (4) Germany

290 ° okl gm ° Are A4 1990 4 7418 B4l gl gxaen fean ek ame sae famve & e
(1) B (2) fafamn
(3)  FEETEE 4y S
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2. 2 [Option ID = 20545]
3. 3 [Option ID = 20546]
4. 4 [Option ID = 20547]

5) Read the following passage and answer the question given below:

When the Cold war ended in the late 1980s many analysts thought that NATO's days are numbered. With the Soviet Union
unable to maintain its control over Eastern Europe, the communist regimes in that region fell, and the Warsaw pact
dissolved. When the Soviet Union disintingrated in December 1991, it seemed plausible that the NATO alliance would
crumble as well NATO's obituaries turned out to be premature. The United States did reduce its troop presence in Euro, but
62,000 US military personnal remain stationed there today. Rather than withering away, NATO expanded eastward, adding
13 states that had been allies or republics of the former Soviet Union. The alliance expanded its mission. In the 1990s,
NATO intervened with air strikes in the wars that accompanied the breakup of Yugoslavia-not because a NATO member had
been attaked, but to address the humanitarian crises those wars created. Its reach extended further after the September
11, 2001, terrorist attacks on the United States, when the alliance invoked Article 5 of the North Atlantic Treaty declaring
that the entire alliance had been attacked. NATO subsequently played an important role in efforts to stabilize Afghanistan
after the US invasion in 2011. In March 2011, NATO initiated a military campaign against Libya in a response to that regime's
violent crack down against domestic opponents.
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How do you explain future developments of NATO?
(A) After Soviet Union disintegration in 1991, it was assumed that NATO alliance would have no existence
(B) NATO operations in the former Yogoslavia and Libya showed that the alliance can act on common commitment



(C) NATO has been transformed from a defensive alliance to collective security organisations
Choose the most appropriate answer from the options given below:

(1) (A) and (B) and (C) only (2) (A) and (B) only

(3) (B) and (C) only (4) (A) only

arei & wfesy 61 319 FH A F gEd 27

(A) 1991 1 Hifgera 59 < famveq & ae 9= forn wan en 6 e = sifdaq 448 2)

(B) ud PirAta HR et d el i st guid 2 6 neaya w1 vs gum gfdaga wosm
A =TT

(C)  Arl @ af4s meaua 4 yfafda o anfes gan Teayd &= fom mn &)

I feu mu faweqi § 4 9 3 %1 =931 fifso .

(1)  =%de (A), (B) 311 (C)

(2)  &Ed (A) 3R (B)

(3)  wad (B) 3 (C)

@) & (A)
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